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(7) WA TS IR TS Yoaieh S aTT SAGaRTeAT ITCUAR e 9 SA=rst T feos amaie.
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1 T T e S e areeen Him e e T

(1) Al € (2) I FZATT GrEsia

(3) WHfeF Wa deoardl FTHM (4) vEw IfE gERIm

Which of the following is not an objective of central government’s scheme ‘National
Horticulture Mission” ?

(1) Establishment of Nurseries (2} Rejuvenation of old fruit crop

(3) Construction of community tanks (4) Plantation on waste lands

2, NG fer TR wevarEt gEd / HH U

1) famqoR = — e _ m x 1000
G S TR TeuiE e

(2)  fif IR = fatwe TR ST FE ¢ 1000
e e ferdrt W e
fafkre fadie Poas wgw gen

x 1000

(8) fef i =

T A TR AR
(4) SUAIH! HIORE T

Sex ratio in India is calculated as :

Total No. of Fermales in a particular area

(1) Sexratio = - % 1600
Total No. of Males in the same area

5\ Sex ratio = Total No. of Males in a particular area % 1000

@) Total No. of Females in the same area

(3) Sexratio= Total No. of Females in a particular area % 1000

Total population in the same area

(4) None of the above
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Ty e Ao Pl qEieTis! TR guray T8
(1) STei=a1 Tt BT Sl AR,

(2) TS ITHAEE T fameta Teur aefauarars.
(3) @RI Yk GifFE SR SvarErEl,

(4) W o fosan srersTar SR STRRTET gol YR,

Mid Day Meal scheme objectives do not include :

(1) Improving the nutritional status of children.

(2)  Encouraging poor children on classroom activities.

(3) Providing nutritional support for children.
(4) Improving the nutritional status of mother and their children.

TAYHH U9 e& ATgl TTH0T qrTg W= fAfdd et . 31 S O e fae

HA FHIG HHT s EREE AfEd AR,

(1) 500 (2) 700 (3) 900 (4) 1000

Pradhan Mantri Gram Sadak Yojana is to provide road connectivity in rural areas. The
eligibility for this scheme is habitation with a population of persons.

(1) 500 (2) 700 (3) 900 (4y 1000

WIeHeTdeht VT STe 9 AlhaE feomer g6y oI

(a) @I - e qateRor (fRerdt) =nfon Tehgen ATt Jarjd ST oS T,
(b) TIEEEAEl SHR A0 TR Gha Fi=1 GRS A

(c) wArERY a7 &l A=A W Way T FvAEa T S

(d) = fafas dferes) anfor watare ar=r gl st

il 3
(1} (a) B (2) (d) &
(3) (b} | (d) ek 4) (o) At (@) okl

Population study deals with :

(a) complex and qualitative relationships between socio-economic environment and
population.

(b) the quantitative study of size and processes of population growth.

(c) rapport establishment with environment and people.

(d) the meaningful study of different characteristics of society and its environment.

Answer options :

(1} (a) only (2) (d)only

(3) (b)and (d) only (4) (c) and (a) only.
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6. W W e FHIAT A,

(a) T FH FIA Fa@ Gelfed Fue

(b) enfeiwgEn wH oo AhHe

(c) o N0 ¥an Yl AdfereAa wevrlt s ien

(d) o SIS &9 F HO AHEIA HETRI

it I

1 @k @ @sme @) @ @) (o) (e
Labour Force has been equated to

(a) only those organized labourers who are working in Industry.

(b)  economically active population.

(¢) individuals who take part in the production of economic goods and services,
(d) only those unorganized workers who are working in informal sector.

Answer options :

1) @and(d () @and() () @and(© (&) (b)and

7. TS Fga wdird G - 3 THR YAk ST STessl SuarEret Hiva wrefivs &5 81 7

(a) TR Tt & (b) e TTEE O

(© fm-oed daw 8E (d) JTECH A &
it S faym/ S wET SR/ ?

(1) (a) nfor (4) FET (2)  (b) ST (c) R
(B)  (a) (4) (b) wx

According to National Family Health Survey - 3 which sector remains the primary source
of health care in India ?

(a) Government medical sector (b) Private medical sector
(c)  Semi - government medical sector (d) Herbal medical sector
Which of the statement/s given above is/are correct ?

(1) (a) and (d) only (2) (b) and (c) only

(3) () only (4) (b)only
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8.  O1g SiSA Sl
(a) WEHN ATYHIT HTEAT HEATIF STHU (i) ST THETHE
JURIE THE HogErE! {99 e (2004)
(b) FU T TaFUERIEIE T T (2005) (1) . TR
(c) T FHATHRIEE TF T (2007) (i) e
(d) fafaa guees Gf (2006) (iv) aTE.TE.d. 4R

@@ (b) (o (&
) @ @ @) @)
(2) (v) () GH) ()
(3 () (i) @) @
4y (i) @) @) @)
Match the following :

(a) Task - force to examine the reforms required in (i R.Radhakrishna
the Co-operative Banking System (2004)

(b) Expert group on investment credit in (ii) C. Rangarajan
Agriculture (2005)

(c) Expert group on agricultural indebtedness (2007) (ifi) Vaidyanathan

(d) Committee of financial inclusion {2006) (iv) Y.S.P. Thorat
(@ (b) (o (d)

M O @ () @)

2 (v () (D) (i)

(@) @) @) @) ()

(4) () @v) (@) ()

T HIWTETS! SO / SPACE FOR ROUGH WORK
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9. FAVEIEd! T WRISFIR Feie TOEH Ta® SEEe! Tid 3) gang i sosparE fae w1
71 Tfedrean InuR HIT T e ?
(a) TETE W e uw glawiEt ag wEd (b) THSE TR Gragr=Et awqe w61
(c) SEiTRal Iy o glagE oqe 871 (d)  SERUSTH aEe w84
Tl HIVR/HE Taur/3 SUET o me/q?
(1) (b) Kl (2) (a) B
(3)  (a) O (c) e 4) (a), {c) SO (d) HH
Philosophy of the Swarna Jayanti Gram Swarozgar Yojana (SJGSY) is based on the
assumption that carefully selected viable economic activities suitable to each area should
be promoted by :

(a) Provision of infrastructure and credit facilities.
(b) Provision of community employment facilitiy.

(c) Provision of entrepreneurial skill development facility.

(d) Provision of marketing facility.

Which of the statement/s given above is/are correct ?

(1) (b)only () (@) only

(3) (a} and (c) only (4) (a), {c) and (d) only

10. TaWM S@AA 9 2002-03 § 2011-12 W HIAEHEET FaE YSRGS U= QS A
FIAHIE €17 Afuh=n Tfadian W el d UM,
(a) emuRy o sam sitEl . 9 5.5% M.
(b) emuRd feerdt S SELdL 9 6.5% 38
() o= 9% fedt sam 0, SN, O, 916 8%,
(d) A o1e feudt s ot €. @ 9@ 9% TR,

Sterte Fur Faum svaT ok 2
(1) (a), (b) 3T (c) Fer 2 (b), (c) ¥ (d) Few
(3)  (c), (d) ST (a) Fer (4) (a) =0 (b) B

The Planning Commission made an alternative projection for employment in the period
2002-03 to 2011-12 using three additional assumptions about the rate of growth namely :

(a) a base line scenario in which GDP grows at 5.5%

(b) a base line scenario in which GDP grows at 6.5%

(¢) a high growth scenario with GDP growth at 8%

(d) arapid growth scenario with GDP growth at 9%

Which of the statements given above are correct ?

(1) (a), (b) and (c) only (2) (b)), (c) and (d) only
(3) (o), (d) and (a) only (4) (a) and (b) only

FHoegl HIHTHEI ST / SPACE FOR ROUGH WORK
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WA STVET STEETe (2001) 20 S0 IR Sl aei=a e 9K cugimed aeie
FS AR, W § T ATd NG e ol :

(@) 1901 - 1921
(b) 1921 - 1951
(€) 1951 - 1981
(d) 1981 - 2001
At S

(@) (b
L 6 @
2) (@) (i)
(3) (v} (ii)
(4) (i) (iv)

(c)
(iii)
(iv)
(i)
@)

(i)

()

(i
(iii)
(tv)

Frfqemer=t firdl wreafaet
AT 0 9%
feeR =6

ENCIEICI

The Indian Census (2001) has classified or charted the momentum of population growth
during the twentieth century into four distinct phases. Match each phase with the

appropriate class
(a) 1901 - 1921
(b) 1921 - 1951
(c} 1951 - 1981
(d) 1981 - 2001

Answer options :

(@ (b} {c)

M G
@ G i)
(@) (v) (i)
@ i) ()

Dissipating high growth
Stagnant population
Steady growth

Rapid growth

HoAT HIUHIS AT / SPACE FOR ROUGH WORK
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(a) YIRE YIHRA A WO {96 3 el TAeErE A 1985 76 e,
(b) T & TS EEr fasTen T W g,
et 2 fauriit Fod 3T TR ?
(1) F9 (a) (2) % (b) (3) wOWEAE  (4) W=

(a) The Government of India created a separate Ministry of Human Resource
Development in 1985.

(b}  Until then it formed a part of the Social Welfare Department.
Which one of the above two is incorrect ?

(1) Only (a) (2) Only (b) (3) Neither (4) Both

13.

YRR Td ST TAEY A H AT ST SR -
(a) TH FIoGTHT Fo9T1 T8 qU1 M fHesd A,
(b) T FHOETE! A AR T FH Hed T

(c) HTHIEEA IS HHTo AARTHS S 31Ye HH TI&Y! HETEE g1 Heedl.
(d) T I T THATH B HH B .

Tt I

1) @ae @ @ () @M @) (@), b A
The unemployed consist of all persons who are :

(a) willing to work but could not get work.

(b} able to work but could not get work.

(c) ontemporary or indefinite lay - of where employment opportunities are very limited.
(d) not willing to work therefore avoiding work.

Answer options :

(1) (a) and (b) (2) (@ (3) () and () 4) (@), (b) and (¢)

HoHl RMMEE AT / SPACE FOR ROUGH WORK
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ja. T ST FIUE TRAAT SoT AEREET e o A 7
(A) IR AdEo
(B) dEfa® faarg
uqiyg
(1) Fae (A) (2) F9(B)
(3) W TR (4) T
Which of the following two is not a cause for the rapid growth of population in India ?
(A} The tropical climate.
(B) Universal marriage.
Options :
(1) Only (A) (2) Only (B)
(3) Neither (A) nor (B) is true {4) Both (A) and (B)
15. YEia %o faum sy og?
(1) WA AT 4, TH. U1 SH -0 3118 W YR Ade 4.00.0.9 9,049, 79,371, =
U SHEE I T2 3R,
(2) WRd yAadl A ARHET Th AR o Sy o1
(3) AT FeREE fhdl & @l eHfadie 55 Sy UHd el dEIEEl AR,
(4) WA S wedw fafrern 74 g6 Saw.
Which of the following statements is incorrect ?
(1) India is just two fifth of USA but India’s population is more than two and a half
times the population of the USA and USSR put together.
{2) India adds one Australia to its population every year.
(3) Indias population is equal to the total population of 55 countries of Africa and Latin
America.
{4) InIndia today 74 babies are born every minute.
16. WEG @WreA famn FiemT (RSBY) SR Aiguiihd HEame wHE@ Hl ....... wugi=n fam o fasg

ITeRdl.
(1) ¥ 30,000 (2) % 40,000 (3) T 50,000 (4) % 1,00,000

Rashiriya Swasthya Bima Yojana (RSBY} provides health insurance cover of ¥ __
to each enrolled family :

(1) 30,000 (2) ¥ 40,000 (3) % 50,000 (4) ¥ 1,00,000

THTAT HIFTETS AT / SPACE FOR ROUGH WORK
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‘ArEEEn o fawy! mﬁwmw%n@%ﬁﬁauﬁwm@nwﬁuéazowqﬁamw
FHIvaTe AU IEP (3d) Hio! 2l ?

(a) FAYTH THT T 1000 el STERMAT 35 IAgysT &H1 S0,
(b) SHE: 93 9 75 e SRS TgHA A,
() TEHEH THM T 1000 TeIedt ST 45 SEegasn &H) FTul.
(d) TG 30 9 70 Fe1 SR STHA ATEfao,

e Fime frem e o ?
(1) (a) @i (b) BeFd (2) (b} M (c) Bk
(3)  (c) 0T (d) ek (4)  (a) ST (d) B

[n the International Conference on population and development held at Cairo in 1994
what were the goals set for 2015 :

(a) reduction of IMR to below 35 infant deaths per 1000 live births.
(b) increasing life expectancy at birth to more than 75 years.

{c} reduction of IMR to below 45 infant deaths per 1000 live births.
(d) increasing life expectancy at birth to more than 70 years.
Which of the statements given above are correct ?

(1) (a) and (b) only (2)  (b) and (c) only

(3) {(c) and (d) only (4) (a) and (d) only

18.

Smfad AR Heed SR W9 Hei g "o fowE w1 B
(a) SITaE WrERIAE! saays e,

(by Gura AE Glaur=t gt i e,

(c) wfT fawm sufu derg fsomaRE v,

(d) HaTEE] WY

Flierda! v four/A se AR/a 7

1) @I @FR (2 @©FF (3) (b) (@) WR (4) () FH
One of the WHOs biggest achievements to date is :

(a) provide a 'home’ for global partnerships.

(b) gaining access to improved health facilities.

(c) evidence - based framework and treaty for tobacco control.
(d} Health for all.

Which of the statement/s given above is/are correct ?
(1) (a)and (d) only (2) (©only (3) (b)jand (a)only (4) (d)only

FHoedT HIMEET AT / SPACE FOR ROUGH WORK
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19.

12 A

YA SFRAEd HE @ AR ?

(1)  STRETel Ul b=l stien sifue gfveam e, 39 e, fmr, @ 7 qiffeg @
T TEER #Rd. (1990 SYEe ARSan)

(2)  TITHYOT ST ST WHTOT VISR ST en R 37

(3) @M AT HET AATIE AHR] AHH TR

(4) Torfeaa oM SIFTH IRA STHCeH THU SRR THONG aie SAfbe 3718

What is not true of the unemployment in India ?

(1)  More than half of the total unemployed persons in India reside in West Bengal, UP,
Bihar, Kerala and Tamil Nadu. (statistics of 1990).

(2) The incidence of unemployment is relatively lower in rural areas than in urban
areas.

(3) There is greater unemployment in industrial sector than in Agricultural Sector.

(4) Unemployment among the educated is much higher than overall unemployment
found in the nation.

20.

HRIHT TiET T U0 g SRS WA $_Y v

(a) U g frAe sexfaterd! giftmm g,

(b) U FEai fRmm sy Feikar e,

(c}  TTEI AT foRAT TSRS it gfem,

(d) o Fsi fRar ST gRen RiEer

U] Hod /HIo faum /3 a0t e/« ?

(1) (a), (b) 3707 (d) P (2)  (b) &M (c) BT
(3) (a) @) (a) 30U (b)

The primary objective of Mahatma Gandhi National Rural Employment Guarantee Act
(MGNREGA) 15 to :

(a) provide minimum livelihood security to rural households.
(b) provide mim'n‘ium food security to rural households.

{(¢) provide minimum employment security to rural households.
(d) provide minimum wage security to rural households.
Which of the statements given above is/are correct ?

(1) (a), (b) and (d) only (2) (b) and (c) only

(3) (a) only {4) (a) and (b) only

T HIETETS 9T / SPACE FOR ROUGH WORK

www.upscstudymaterials.com www.upscstudymaterials.com



www.upscstudymaterials.com www.upscstudymaterials.com

A

21.

13 JO4

gfgen (wafa®) el vew WA GHEE AT SErdl vl ot denseae el §d ?

(1) 20,000 T 30,000 FHTEA (2) 3,00,000 @ 6,00,000 ATeREEA!
(3) 80,000 T 1,20,000 elwEEA (@) 3,000 @ 5,000 FHETEA
Community Health Centre as first referral unit is established for every :

(1) 20,000 to 30,000 population (2) 3,00,000 to 6,00,000 population
(3) 80,000 to 1,20,000 population (4} 3,000 to 5,000 population

22,

T, 3R U, |1 St YT A1 § U W8t U I8 SO ¢

(a) TRIG Al Aihd YreeHe AIgeE Hordl oY Hacad e Seial Mg @ fHewd.

(b) e afgai A6 WY FaAE T I FRI SO TG WRA (Had.

(¢) THA ufgeri ofyd: Hrwd TR Qa1 ony Uaeard Rl e i@ @ fired.

(d) Tl HiEEiE SE: e TS qIge Yo oY Sacdrd ST SteteR 19 e e
Fheta! HoE fayEA stEE e[ ?

(1) (b) 30T () (2)  (c) 30w (d) ek (3} (@ %R (4 (4w
One of the largest component of NRHM is Janani Suraksha Yojana which offers a :

{a) conditional cash transfer to poor women for availing free institutional maternity
services.

(b) conditional cash transfer to poor women for availing free maternity services.
(c) conditional cash transfer to poor women for availing partially free maternity services.

(d) conditional cash transfer to poor women for availing partially free institutional
maternity services.

Which of the statement/s given above is/are correct ?
(1) (b) and (c) only (2) () and (d) only (3) (@)only (4) (d)only

23.

'3feq AT WS (JAY) 1, SfaararE! S aia ST e TR 4 9 59 ATHTHSA
BIVTFAT @At 9T ( 3T9) & 370R ?

{1y 80:20 (2) 50:50 3y 75:25 (4) 60:40

Indira Awaas Yojna (IAY) scheme provides assistance to weaker sections to construct

shelter, for this scheme what is the cost share between the centre and the state
respectively ?

(1) 80:20 (2) 50 :50 3y 75:25 4) 60 : 40

TSl HIATHIS ST / SPACE FOR ROUGH WORK
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24,

14 A

WrETerdeh! IV ST fah 2 o / 77

(a) 3 9. 2015 Tq §6 gern yrafis fasoma gy,

(b) 3. W. 2020 Tdq 9 SuiSTdIel SIASIHHE SR WA 2/3 i T ST,

(c) 3 9. 2010 Y4d TR g oA SqEie w6,

(d) 3 ¥ 2020 v fd TR TeUT=N FEY T 1/2 gdd w0,

TUAH! IR faum/ aET R/ ?

(1) (@) 3001 o) B (2) () S (d) T (3) (a) B (4) (c) I (d) Fe
Which of the following is/are the international development goals ?

(a} Universal primary-education to all children by 2015 AD.

(b) A reduction by two - thirds in the mortality rates for infants, children below 5 years
of age by 2020 A.D.

(c) A reduction by three - fourth in maternal mortality by 2010 A.D.

(d) A reduction by one - half in the proportion of people living in extreme poverty by
2020 A.D.

Which of the statement/s given above is/are correct ?

(1) (a)and (c)only (2) (b)and (d)only (3) (a)only (4) (c)and (d)only

25.

"o e YR s’ Wil Fom 19 AR ?

(1) fawra SieA aReE

(2) T IMYR Hera! T

(3) iy dfeen wfafredi=n 99 wE

(4) e THE A

Which of following is not an objective of ‘Panchayat Mahila Shakti Abhiyan’ ?
(1} To organize Divisional gatherings

{2} Establishment of State Support Centres

(3) Founding of elected Women representative’s group

(4)

4 None of the above

HEAT HIHEE 9T / SPACE FOR ROUGH WORK
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26. TEREM Tl faiem wimar Sven daiis Qe ARITIRA gE Fiet 7

(1) dfeet vo-ofd G @) foud d9-aifw A

(3) r=al 9g-aide g (4) wEt TE-E A

Maharashtra has introduced decentralised planning process since the beginning of the :
(1) First Five - Year Plan {(2) Third Five - Year Plan

(3) Fifth Five - Year Plan (4) Seventh Five - Year Plan

27, ‘ameasr’ A1 e FToreal YR U@l sawh! U (G Scasyd SSMR 38, ¥ %l Sfda

a2

(1) SSTSAGT THEl a9 FH holel T g & bl HE MU e fohar Frmeiet suers
TR,

(2) SIS U a9 &1 Y HoR g R T D! HH MEd F fHA wemaret
IqTH AT,

(3) SSTSHANA U A9 gl FM ot Al Ty & AT FW Mud AR fohan wmmae!
IYCT HIR.

(4) ABTSIA Hel I g1 F1H Fd e Tg off AT w1 wed o fohan smrarst
ITT 3L

On the basis of week as the reference period a person is considered unemployed by Current

Weekly Status (CWS) if :

(1) a person had not worked even for one hour during the week but was seeking or
available for work.

(2) a person had not worked even for seven hours during the week but was seeking or
available for work.

(3) a person had not worked even for five hours during the week but was seeking or
available for work.

(4) a person had not worked even for six hours during the week but was seeking or
available for work.
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A SR WEEASAT ST 371 Aeiel YU SRR TRTvEET VAl TE i JEh o ?

(2 T wEfAReTE (by ST HE AT
(c) dfvF FrEfFFare (d) TR e
Fherdeht H0 fauH /3 FHET /a2

(1) (@) (0 3 (d) % (2)  (b) @0fvl ()
() (a) (4)  (b) F

World Health Organisation (WHO) after Alma Ata Declaration revealed a new approach
towards health care ,ie. :

(a) New universalism (b) CGlobal universalism
{c) World universalism (d) Future universalism
Which of the statement/s given above is/are correct ?

(1) {(a), (c) and (d) only (2) (b) and (c) only

(3) (@) only () (b) only

29.

TRATA e SRt feeredt SAreoemandt Tgra T wdervr (T, UH. G4, ) A Gieferih] S sl
SUANT shefl ATel ?

(a) Tafma=md (b)) =g-T9h () Afafdw Vs (d) -

Tt 39
(1) (a) 30 () B (2)  (b) enfor (d) B
(3)  (d) ®wF (4) () B

Which of the categories has not been used by National Sample Survey (NSS) to refer the
status of employment in India ?

(a) regular employment (b)  self - employment
(c) casual labour (d) under employment
Answer options :

(1) (a) and (c) only {2) (b) and (d} only

(3) (d) only (4) (0 only
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17 JO4
‘TESHI HE AYA! e TN WEHT AR raend gal’ § Ui S o e 2
(1)  ordo 99 HE0 wiidt (1954) (2) T Ta SAeE | (1966)
(3) Heh TOM WEHR WA W (1915) (4) F TALIEST Hee Aferet (2004)

The historical statement “Co-operatives have failed, but the cooperation must succeed”
made by :

(1)  The Rural Credit Survey Committee (1954)
(2)  Rural Credit Review Committee (1966)
(3) Mac Lagan Committee on Cooperation India (1915)

(4) Advisory Committee the Flow of Credit to Agriculture (2004)

31.

(a) HYad TP TEHV S TeeH fadm 3P ARG S ¥ 181 SR 2015 THd e
e 3.

(b) Hess faFE (MDGs) SfEpitat R Sfpa Tegeryor TR Hafia 1R,
e I faurda! Sy @y g ?
(1) Fa% (a) (2) dw (b) (3)  SIVIGEL e (4) <IER

(@)  The United Nations Millennium Development goals are eight in number that all 181
members have agreed to try to achieve by the year 2015.

(b) Four of the Millennium Development Goals (MDGs) are directly concerned with
health.

Which one of the above two statement is correct ?

(1) Only (a) (2) Only (b} (3) Neither (4) Both
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32. P wHEEA SR 2000 41 qEdTeR Ifus W A

(a) EireRgEA a0 (Seaeds o)

(b) TR ST S GERO (O 5]

(c) ToFEmERET ArdE

(d) FZa FEmm

gidt 39

(1) T (b) 2 @ E) (@) FS () (4) F92 (d)

National Population Policy 2000 emphasises on

(a) population control (quantitative dimension)

(b} improving the quality of life that people lead (qualitative dimension)

(c) urbanization for development

(d) family planning

Answer options :

(1) Only (b) () @and(®) (3 Only () (4) only (d)

33. 3§ 2011 99 WREH HVEn e yuia: vy giaek IueR YR fawiad wer ?
(a) wdfefom (b) TifAs ) =@ (d) wHIEEL
it I
(1) (@) 30 () B (2)  (b) S (d) He B) (FF (4 (b)FH

In 2011, India developed a totally drug - resistant form of :

(a) Hepatitis (by TPolio {c) Tuberculosis (d) HIV
Answer options :

(1) (a)and (c) only (2) (b)and (d} only (3) (c)only (4) (b)only

34. SIS ARTA GHEAE HI-aH -
(1) 99 S STREET aEt=r el g FI
(2) AR = Hud!
(3) AU Tl HEeTH! 9
(4) TR R b= BRI
Mission statement of World Health Organization -
(1)  Attainment by all people of the highest possible level of health.
2)  Health is Wealth.

(
(3) Health of paramount importance.
(4) People’s health is in peoples hands.
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35, Ay eyl vedl

(a) wHd YA fowErdte g () U AiE

(b) TG WA fFFEE Fo & (i)  HTURAET AV A Feg qY W WO fa=R

(c) e g fadmg sfvefifer &9 (i) 99 gfauren SOl SeEm w8

(d) THE WA faeREE e a (iv) waRvra anfor gftfeerdter snurlia 94
@ () (o (d)

1 6 G G )

(2) i)y (v} @ Gi)

(3) @) @) @ )

1 vy @ @) ()

Match the following :

(a} Education in HRD (i) Value orientation

(b) Agriculture in HRD (i} It treats people as resource and not

human beings

(c} Industrial Sector in HRD (iiiy Make the full use of credit facility

(d) Tertiary Sector in HRD {iv) Indigenous and situation based efforts
@ (b (c} (d)

1 O @ @) @)

@ @ @) O )

() ) @) @) ()

@ v @ @) (@)

36. ‘mEOT' 3 Welais! S e w6 ?

(1) FrerEticd e g

(2) TTRRTE ® M

(3) WEEER frERw FAS FH

(4) SHIRER HE gAgerE) giert At aan

Which of the following is not a salient feature of ‘'MGNREGA' ?

(1} Time bound guarantee of work

(2) Labour intensive work

(3) Gram sabha recommended work

4)

Muster roll to be maintained by the contractor
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20 A
‘TP AR HRO 2002 F 2010 9H IATATE WL @ Tohdl 29k UG e hell 2l 2
(1) TEY ARG T 30% (2) T AR @ 27%
(3) UHY IR wHeA 33% (4) TR ARFE @A 35%

‘National Health Policy 2002" projected the public expenditure on health by 2010 as :

(1) 30% of the total health expenditure

(2) 27% of the total health expenditure

(3)  33% of the total health expenditure
)

35% of the total health expenditure

38.

AYd e s wrad ae wervarEret et fawr e gEvm SR Five 2

(a) Tewige Freomr (b)  Frerm grt

(c) e &R (d) [T TRVEETE g
FUETHT o fH9r FET e 7

(1) (b) &fom (o) F (2) (), (b) T (d) PR
(3} (a) SO () R (4)  (c), (d) STOT (a) ok

The human development index was formulated as a measure of average achievement in
basic human capabilities based on :

(a) indicators of longevity (b) educational attainment
(c) level of income (d) decent standard of living

Which of the statements given above are correct ?

39,

(1) (b) and (c) only (2) (a), {b) and (d) only
(3} (a) and (c) only (4) (c), (d) and (a) only
e v e e T e S et 2.

(1) i 3 A (2) VRE T

(3) Hige o=d (4) ITE IR

Micro Finance refers to small scale financial services extended to the poor in the following
area :

(1}  Rural and Urban (2) Industries in cities

(3 Women Self help Groups (4) Rural Industries
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40. gAY foee W Feie st foeen dfiedes s wivE=a1 feReigar S e
e ?
(1) ifar afbd! snfon 9éter gfadt (2) e witen et aeie |
(3) = wiHdt Ao SifER |t (4) e FiEd! onfo AEE Wit

Most of the district level schemes have been transferred to the Zilla Parishad on the
recommendations of :

(1) Bongirwar Committee and Patil Committee
{2) Naik Committee and Patil Committee
(3) Rao Committee and Bongirwar Committee
(4) Mehta Committee and Naik Committee
41. AFY Sl e
() TE0 UE-afie AN (i) STeTE fae Wi Sty ISR S
(b) e GE-AIYE AN (i) TG AMfcEE faeE T2
(c) el dg-AiE AeT (i) STfeeTdl 9~
(d) Tadt gg-aift® A (iv)  SefeE | erffe geeetr suft w2
it I
@@ (b) (o (d
M) ) G @
@) @ @ 0 @)
G) @) O @) @
@ O 6@ G )
Match the following :
(a) Second five-year plan (i) Crash Special nutrition Programme and Crash
employment Programme
(b) Fifth five-year plan (ii} Separate Tribal Development Blocks
(c) Fourth five-year plan (iii) Tribal Sub-plan
(d) Ninth five-year plan (iv) Social and economic empowerment and

Answer options :

(1
(2
(3
(4

R

(a)
(iv)
(ii)
(iif)
(1)

(b)
(i)
(i)
®

(i)

©
(i
0

)
(i)

(d)
(@)
(iv)
(i)
(iv)

—

Social Justice
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22 A

dieare siemd qAEEa A (fe fe am wm) w9 age o1
(1) 38" =qHAT WEH / STH GEHTST / THIOARTGT avefarey 200,
(2) S™H o A1 GHTHTITHIST TFE TR

(3) TR ABIIS! ATHIAF FRIew, FrETE S faRy wer 3. Wit Tt e SR
<o,

(4) & =wial P ey,

Deendayal Disabled Rehabilitation Scheme (DDRS) provides for :

(1)  Assistance to disabled persons for purchase/fitting of Aids and appliances.

(2) National Award for empowerment of persons with disabilities.

(3}  Grantto NGOs for vocational training, workshops and special schools for the disabled.

{4) National scholarships for persons with disabilities.

‘3w g fE SYYATYe ARy / faRTie = TSRO S 1 AR, 39 o’ W
IV el HeRor Hidl ?

(a) atforek e (b) wEISE T
(c) =t g (d) TSTEI T
et FIT A ST SR 2

(1) (a) 3nf0r (d) »% 2) () 3T (c) wem
(3) (o) w& 4) (&)

‘A’ has more interest in college/university politics than in studies and research. What
kind of values have been inculcated in ‘A" ?

(a) Educational value (b)  Social Value
(¢) Individual Value (d) Political Value
Which of the statements given above are correct ?

(1) (a) and (d) only (2)  (b)and (c) only
(3) (9 only (4) (d)only
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23 JO4
it faumiiesT St faur @it e ?
(a) YRS fearEal e Tey o= FHFHE .
(by AT 428 ARERET SHEIHR! TERIPM SH@IE 11% S e
Tt S
1) FF () @2 H (b) (3) AR (4 T
Which of the following statements are correct ?

(a) Maharashtra has the third largest tribal population in India.

{b) Out of the 428 notified tribal communities approximately 11% tribes are found in
Maharashtra.

Answer options :

(1) only (a) (2) only (b) (3)  Neither (4) Both

45,

TRreT foram TgErl 2012 W& SEITH 44 =1 WRATE HIR 9REed HIoh wiedt 7 e TR &
HAeA] HEHICE Aereh Ul {99 AR, § T W Eigel Sel SV Sefg T e
Hefoaeae = ARTUIER SAT9ed] ga&iv] Savdd hivedi gas &%,

(1) it wa s (2) =i mAmEs g
(3) & faw T ahem 4) 4t fadg fon

Who stated at the 44t Indian Labour Conference in February 2012 that, “ Youth
employment is a high priority agenda item for our government. This can happen only if
we equip our young people with skills that are required to meet the demands of our
rapidly growing economy.”

(1)  Shri. Pranav Mukharjee (2)  Dr. Manmohan Singh

(3) Shri. Sis Ram Ola (4) Shri. Jitendra Singh
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46. FE FH qFHid qEne Mfraa 9 omed. @wEeid Sre e,

(a) HYF WY 2009 (i)  16-30 a9

(b) foReiRad T (i) 16-20 94

(c) wgH TP qErer (i) 15-24 o

(d) EE A G (iv) 15-32 ad

i 39

(a) (b) () (d)

W O 6 G )
@ @ @ ()

@ G @) 6

@ (v i) 6 o)

Match the appropriate age-group with the respective agency :
(a) United Nations-2009 (i)  16-30 years

(b)  Adolscent needs (i)  16-20 years

{¢) UN - Habitat (i) 15-24 years

{d} National Youth Policy (iv) 15-32 years

Answer option ;

(@ (b) (a (d)
)@ G) ) (v
() (v) (1) (i)
3y i) 4G1)  (iv) (i)
(4)  (v) (i) @) ()

—~
3
—

47, RSS! HIE QAT / FTEAH 2 AR 1975 Ut o H0A S ?
(1) UHTHS T fasrg amsm

(2) SR BHI A
(3) ity Tt fasmE FEHT
(4) TRt TE

Which of the following Schemes/Programmes was launched on 274 October, 1975 ?
(1) Integrated Child Development Scheme

(2) Employment Guarantee Scheme

(3) Integrated Rural Development Programme

(4) None of the above
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25 JO4
‘g AR WAt i A e 7
1) SfEENEe Fea qore SHHal T auiean 31 = /6 21 g7 200 . = fam

(
(2)  ACTYYRSF Fad Yerll w-HeA™E 21 FAR 200 & =1 foar 9 18 auiHa 2 9@ =
(3) TS AR Hadigias e TEAHA1 FHOTA GEre 1 @ v9d

(

3
4)  AHT AL
What are the benefits covered under the “Sukanya Yojana” ?

(1) An insurance of Rs. 21,200 within one year from the date of birth to the family
below poverty line in which daughter is born.

(2)  An insurance of Rs. 21,200 to the family of small land holder in which daughter is
born and Rs. 2 lakh after 18 years.

(3) Rs. One lakh to a male undergoing vasectomy after a single daughter.
(4) None of the above.

49.

o Tomm § Sewr ongE U WHR g fawa v aEt Sefiis B 1986 el
a9 oo hoe IR,
(1) Hures (2) TR (3) @ (4) T

_ education is the central issue which has been projected as a national priority
in the National Educational Policy, 1986 :

(1) Computer (2)  Technical (3} Yoga (4) Value

50.

(a) SuMdIS ufgelt Aigen o, TRHE 9feen d% qaga 19.11.2013 Tt ge woam e,
(b) | HERG AT 19 WEAA(TH &7 FprEwE! & T I

(c) A Afgen < & WM T FHere! JoH g 849 g6 AR

Tt wmIoEt U SR 217 ?

ugidt I

O @3E @ A @) @AM @) (@) ) T

(a)  The First Mahila Bank, Bhartiya Mahila Bank of the country was started in Mumbai
on 19t Nov 2013.

(b}  This is an addition to the existing 19 public sector banks.
(¢)  The BMB is the first ever public sector bank to have been set up by the Govt.
Which of the above statements are true ?

Answer options :
(1) @and(®) (2 (and() () @and(c) (4 (a) (b)and ()
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51. @ YT S| fFue e o ?

www.upscstudymaterials.com

(a) M. TF, 3. = S TR T 2014 HE IROW SRR &1 3.8% 91 e |

(b) TSR] Tedr €19 99 ared TR,
gt I
(1) (a) F= (2) (b) wH (3) ATYH! HIUAE AR

Which of the following statements is incorrect ?

@) TR

(a) ILO's latest estimates indicate that India’s jobless rate could be 3.6% in 2014 !

(b)  Unemployment-seems to be rising in India in the last 3 years.

Answer options :

(1) only (a) (2) only (b) (3) Neither (4)

Both

52. WIHATHR SR FHE o A = AfFRmer  gent St sufn e ofqia

TTfers e ?

(a) UE. I = / TgH ald g (b) &9 HE

(c) oY A (d) e g

() ferfed Tt () Fgamdia NG qo
At I

(1) (a} B (2) (o) 3 (d) @) OFF (4

(e) 391 (£)

What type of children are not covered under the Need of Care And Protection (CNCP) ?

(a) HIV/AIDS affected children (b} Differently abled chiidren

(c) Orphan children (d} Street children
(e) Iliterate children (fy  Fourth child in a family

Answer options :

(1) {a) only (2) () and (d) (3) (B only (4)

(e) and (f)
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53. Arg e T

(a) YRGS "D i Toea

(b) e TuN TS (i) TE-FHI
(c) WY dZa@ (i) _

(d) FEEY TdD (iv) Hu™
i I

(@ (b) (o) (d)
1) Gy @ (@v) (i)
(2) () (iv) (i) (D)
(B) () @) (@) (i)
4 @ @) ) (i)
Match the following :

(a) Jharkhand Movement (i) Bhil
(b)  Adi Samaj Movement (i) Mahato-Kurmi
(c) Khandesh Movement (iii) HO

(d) Mahasabha Movement  (iv) Santhals
Answer options :
(@ (b) () (d)
1y @) @ Gv) (i)
2y (H) Gv) @) @
@) (v) @) (@ ()
@) ) @) () (iv)
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54. HIYF TP THA FHHERO TG 2011 3 o s gas qu T Sifvd Fwair s faeg
g ?

(1) TR e A1 geerd

(2) €A A0 WER WS

(3) WIS GEHET A0 SIifaes enaan
(4) TER Hgrd Infir T

The UN General Assembly declared 2011 as the International Year for Youth with the
Theme :

(1) Mutual understanding and Cooperation
(2) Dialogue and mutual understanding
(3) Social harmony and global peace

(4y  Mutual Cooperation and friendship

55, ‘HewleAEE] HHEET’ ® R Hok AR 7

(a) wHIF g (by eF qea
(c) reforer e (d) wEpfas e
FUCTIR! IV /HI0E! a8/ aaT g/ ?

() @ FR (2 A FE (3 O)FR (4 () P
‘Learning to live together’ is a :

{a)  Social Value (b) Moral Value

(¢} Educational Value (d) Cultural Value

Which of the statements given above is/are correct ?

(1) (@) and () only (2) (byand (d) only (3) (byonly (4) () only
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3. 4. 1975 & od HgF TP 99 (UNO) WiFIeria! SIvel F/am =i¥d et ?
(1) wleen qeisor ad (2) SlRugra wfgen =y
(3) ofYw w24 (4) Tfgen wEEEEQ oy

The year 1975 was declared by United Nations Organization as :
(1} Women empowerment year (2) International Women’s year

(3) Economic empowerment year  (4) Women self-help year

57.

58.

QA S fagr S awea ?

(a) eyl faaemgr emon w4 et SfiEm @ sifam gy 9Rg ved

(by e, wifafTohad, Squr ferom=h e wyA geantatea fayor qefer k.
T I

(1) %% (a) (2) %% (b) (3) A (4)
Which of the following statements are correct ?

(a}  Through value based education can flourish the eternal truth like Sarva Shiksha
Abhivan.

{t)  Schools like Osho, Shanti Niketan, School of Total Education work for value based
education.

Answey options :
(1) only (a) {2) only (b) (3)  Neither (4) Both

“grevor AT AT ST e ST Ge i ST F0 g1 Iy G SR AR 7

(1) vrEr 93 9wy

(2) wREE g qufage |99
(3) TEE A FH

(4) WG yg% 981 9 faw™

‘To foster friendly relations between the rural and the urban people” is the objective of :
(1) All India Boy’s Scouts Association

(2)  Youth Hostels Association of India

(3} Nehru Yuva Kendra

{4) Indian Institute of Youth and Development
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59. WA drEn qoAl

@) I TEarte () WG I W@ AR hErd viufas AT S
earsic Tl

(by Tl Y- enfie A (i) FESFE AT VA9 Fea a4 snfo diyor
EIRERISIR e T

() faedt da-arfi arn (i) WHAl 9 W@ ARTY dhwrd WAfAE FLTE SHEred
TR TR U]

(d) =redl g9 =fE @ (iv) T = o SR WS Fed hed T Sarne
TRTTHRIT

it I

(@) (b) (o) (d)

1y Aw) Gy G ()

(2 ) (b (v) (i)

(3) G (v) (i) )

(4 (v) @O Gy (i)

Match the following -

(a) Second five year plan (1)  Integration of mother and child health centres
with primary health centres

(b)  Fifth five-year plan (i) Integration of public health facilities with family
planning and nutrition

(c)  Third five-year plan (lif) Integration of maternity and child health centres
with primary health centres

{d) Fourth five-year plan (iv) Integration of maternal and child health service
with family welfare planning centres.

Answer options :

a) (b) (o (d)

(L ) @6 )
2y @ () (v) ()
(3) ) (v) (). ()

4) (v) @) () (i)
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60. T I fauFitRT FUR WY AR 2
(a) T Ut Areg 9Tl LA Siehi=n qaleRdl STicard! HedToms= T s B
[T HLUAT AT,
(b) TF WA HesdedIes ST aTfeardt fegen Samiei= STgH w& anr
Tt WY
1) W (a) (2) wF (b) (3) =R @ <=é
Which one of the following two statements is correct ?
{a) Swabhiman English medium schools have been started as one of the Tribal welfare
schemes for the children of tribal people.
(b) Tana Bhagat Movement caused ‘oraon’ tribals to imitate Hindu life style.
Answer options :
(1) only (a) (2)  only (b) {3) Neither (4) Both
61. @A ?ﬂ’—[ IERIEIEEMEA R 1 R F

(a) STIATE ST Al STHTOTATE} VIR WA STTOe
(b)  STTUETE! Wehe T T F WL YR Tafael S,

Tt Iy -

(1) %% (a) (2) wES (b) (3) e (4) TER

Which one of the following two statements is correct ?

(a) Anutai Wagh popularised the word Anganwadi.

(b) ‘Anganwadi’ is being implemented in rural as well as urban areas.
Answer options ;

(1) Only (a) (2) Only (b) (3) Neither (4) Both
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62.

32 A

qEie g faurda) shiod B 3R ?

(a) W W= qieel 9 dieffad™ Axaar=ar (2007 =1) GMYETTER 69% Ses &
Rife e g6 am.

(b) wata afus e WEHE AR e a@t gsam.

T 39T

(1) W% (a) (2) wF (b) (3) <= (4) ==

Which one of the following two statements is correct ?

(a) According to research conducted by Ministry of Women and child Development
(2007) 69% of children are victims of physical violence

(b)  Highest percentage of children are victims of physical violence in the schools.

Answer options :
(1) (a) (2) (b) (3} Neither (4) Both

63.

TSI 9ITg, HENSH] @ielferdsht FomEt Afgen sffuees (Ve guiidee) =M A9 el 3?2
(1) TEHER Heaml (2) wfasieE g

(3) ggmet et (4y i ferew

To whom did Rajashri Shahu Maharaj appoint as a lady superintendent from amongst
the following ?

(1) Rakhamabai Kelavkar (2)  Savitribai Phule

(3)  Indumati Devi (4) Nancy Wilson

64.

Feud foTeead 0T HIETTER STl el [t Tar w20 sffard e ?

(1) e TR (e f o wean) ey 2000

(2) A& TR (are i a geror) guia e 2006

(3) ®IT TEEH ST A 2005

(4) SRS TEA T8 2004

To establish Child Welfare Committee in each district is mandatory as per the :
(1) Juvenile Justice (Care and Protection of Children) Act 2000

(2)  Juvenile Justice (Care and Protection of Children) Amendment Act 2006

(3) Commission for Protection of the rights of child 2005
(4) National Charter for children 2004
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66.

33 jo4

aTE HATA ST T JrEt R e A [eHHe = w45 B R FAneie
AAHGIST GHRON Fefl ?

(1) 12 guivda=a 9d qenaia|
(2) 6 auIwiTE W qeEe
(3} 3 14 99 FANERE T4 ot
(4) 14 astrdaet wd q@

Article 45 of the Constitution was amended putting an obligation on the State for early
childhood care and education for :

(1)  all children until they complete the age of 12 years.
(2)  all children until they complete the age of 6 years.
(3) all children between the age of 3 to 14 years.

{4} all children until they complete the age of 14 years.

1986 NPE =41 sincaeaviiamsg e 41 g9 diReiHt el
(1) s wfbdt anfr faandis foeomfad

(2) = wihdt enfor mreafue foemo wf

(3)  Tmfd wftrdt enfin sda gt

(4) g ghvd snfor S wiwd

The implementation of NPE 1986 was reviewed by two committees, namely :
(1) Rammurtt Committee and University Education Committee

(2} Janardan Committee and Secondary Education Committee

(3) Rammurti Committee and Janardan Committee

(4) CABE Committee and Janardan Committee
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67. TSR T farsrgs e, s e AfewAa Fes WOvdT IEE i el / Aefewned
foan favafaameraine R Tuea fammeata snfis gera 20 € 9. L
TP 3TE.
(13, e 2007 (2)  SEER 2007
(3) ufga 2008 (4) ETeR! ATET

The National Merit Scholarship scheme, the objective of which was to provide financial
assistance to meritorious students studying from post - matric to post - graduate level in
Government Schools/Colleges and Universities has been discontinued with effect from

(1)  April 2007 (2) January 2007

(3) April 2008 (4) None of these

68. TAVIEIY TS, HRIY A1 SATaTeR/< 4 el
(1) o o s=faem:
(2) TR R BRI
(3) UEIERR T frarom
(4) T FEHA T FEHGH]
Identify the motto of Directorate of Technical Education Maharashtra state :
(1) Vidya Tatv Jyotisamha
{(2) Gunsya Bharnam Kaushallam

(3) Rashtrodharay Tantra Shikshnam

(4) Twam Dyanmayo Tantra Dyanmayo si
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69. SiSaT e,
‘a'ME ‘"' e
(a) RO qUET GHROT ()  TTHESIEE-SiL 3T HL.
by fosm, nftm enfon Susht @iew foaomee iy @ () & SRLCILTA
() WTUR eI S HfaH (iii) IR TH. TR. T,
(d) fem weifug we= enfn -3 Feame, (iv) TIAHZE.
foruin foReldt T, T8 @@ | 99E,
3T FTS TAlaTe IIT&v aHnE W
YT FR0
et S (v) ESEE

(@ (b) (0 (4
(1) Gv) @) @)
(2) @) {v) (@) (i)
@ ) @ () @)
@ @ (v @H

Match the column ;

(a} Promotion of Quality in Technical Education (if NPEGEL-GRC
(b) Focus on Science, Maths and English education  (ii) Quality - MPSP
(¢} Computer Aided Learning facilities (i) RMSA

(d) Provide resources for addressing gender related  (iv) AICTE
Issues and also provide a platform for
mobilization of strategies like Maa - Beti Melava,
Kishor Kishori Melava, SMC members
and community mobilizers’ training

Answer options : (v) KGBV
(a) (b) (g (d)

N (v G 6 ()

)G v @ G

@ ) ) () @)

) B @) ) )
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70, FEREGTE WA, oammen semre oyl ugieied S 9edr Wiskhias way afis ot
B URAT  Hied ISk SR SR, Fa@aae 75 WiEhiad e - T ST HH

HZH AT HEF(dF AGH YEH HIHATE U WF AR,

(1) 12178, Hi (2) 1257y, o

(3) 118 7w, faremo (4) 1197¥, B

Since Independence, India’s cooperation with foreign countries in education sector, used
to be part of the cultural Agreements. India has cultural Agreements with

About 75 Cultural Exchange Programmes {(CEP) were signed and most of them are
periodically being renewed. component forms a part of the most of CEPS.

(1) 121 countries, sports (2) 125 countries, education
(3) 118 countries, education (4) 119 countries, sports

71. YEIT v faum a9 e ?
(a) AFY ¥ gufifa - Fifq ar] S0 gem 9 R
(b)  HEWE T E- 9 Hifdat el & R wes dien stesraara ety wet,
vt 3
(1) F9% (a) (2) e (b) (3} &M A (4) TER
Which one of the following statements is correct ?

(a)  Andhra is the first state to release a dedicated e-Governance policy.

(b) The Maharashtra e-Governance policy was drafted by a committee under the
chairmanship of Dr.V.P. Bhatkar.

Answer options :

(1) only (a) (2) only (b) (3) Neither (4) Both

72, TS ST A UHE S HAM AT Sedn @ Hu gl gy s gl et gum s,
(1)  STeFRIeTE, ®oihdl, SHTEN, T, HEiae
(2) Felchdl, FRACISIG, Seill, TG, FEHHE
(3) o, STEECEIE, STEAR, BERS, TEA
(4)  STETEIE, Ferhdl, SR, FIHHE, TEA

Arrange the following 1IMs in the order in which they were established, the one established
earliest should De listed first.

(1)  Ahmedabad, Calcutta, Bangalore, Lucknow, Kozhikode.
(2) Calcutta, Ahmedabad, Bangalore, Lucknow, Kozhikode.
(3) Calcutta, Ahmedabad, Bangalore, Kozhikode, Lucknow.
(4)  Ahmedabad, Calcutta, Bangalore, Kozhikode, Lucknow.
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ye fae SrEe] faefad e 2011-12 |iE J9qd L,
ey WWHW%WWWWWWWW
améh—w.

(1)  Waw, v, o9, FEad

(2) =i, swfefen frerd, fam, o

(3)  wEw, WH, g, WA 989

(4) TN, SEHY, AT O SR AR Tl

In 2011-12, for the first time, the state prepared its School Development Plan with the
help of School Management Committees. Planning inputs with respect to ____

_ and were taken from SMCs while developing School
Development Plan.

s

(1) access, skill, age, intelligence

(2) status, financial condition, sex, age

(3) access, equity, quality, community participation
(4)

technology, curriculum, innovative methods of teaching and learning

74.

Weferish! B faum ater e ?

(a) W AAT I T FEHHE, N YRS Faid Higl 99E T9ReE 3= s favrmdra
il & WHTOT TAAE. SHAT FAH TR,

(b) T A S Kees IeI Yarean shafteri fawaiet (disciplines) Wel= am6fa 1R,

et 3'#{' :

(1) 9% (a) (2) F9S (b) (3) HNEE AT ) =R

Which one of the following statements is correct ?

(a)  The National Programme on Technology Enhanced Learning is India’s largest
technical knowledge dissemination programme through ICT in the Higher education
secior.

(b) Tts main objective is to increase the reach of only the high quality engineering
disciplines.

Answer options :

(1) Only (a) (2) Only (b) (3) Neither (4) Both
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75. @l Sfeg EECICIES
(a) HAEE AV 9T 0 T B fawfaa wl,
(b) A =R i e Qe @ g,
Tt I
(1) Heia fore (2) TR e fafe
(3) ufeaTEr foeo (4) TR TR
The following objectives are regarding
(a) Todev elop basm language and Maths skills in the children.
(b)  To bring these children to the learning levels of age appropriate classes.
Answer options :
(1) Girls education (2) Learning camps in Balgriha
(3) Tribal education (4) None of these
76. TR BN {HHTH @Y AR ?
(a) VRA WERA H 2008 9e4 TEF ToE-HE-0aa) 9 forsagdt d=in g% el
(by B A AT AMRET SfiETe #ugad ueade e geeHas et
Jugrar! et 29,
quiEr 39
(1) (&) o= (2)  (b) B (3) I R (4) <R
Which one of the following statements is correct ?
(a) “National Means-cum-Merit Scholarship Scheme (NMMSS)” was launched by Govt.
of India in May 2008.
(b) Tt awards scholarships to meritorious students of economically weaker sections to
pursue post - graduate studies. :
Answer options :
(1}  only (a) (2)  only (b (3) Neither (4} Both
77. (a) Tomeiroersen foer SREmmE 3 TR @i GATSN SRS ard 9 gaag "ied) 991

AT AT e AR Tehdel RHRIcas E0T G TTIET TaR 61,
(b) TA FEFTAT FOTAE FM HIA NS A Hohed TR[hIT H5T hel .
Fd <M fauEiE S ag R 2

(1) e a) (2)  dE(b)
(3) (a) § AR A (b) T A 4)  (a) T (b) =

(@) The Adolescence Education Programme aims to empower young people with age
appropriate and relevant information to enable them to respond to real life situation
in positive ways.

(b) The Programme is coordinated by the Central Board of Secondary Education.

Which one of the above two statements is correct ?

(1) only (a) (2) only (b}

(3)  Neither (a} nor (b) (4) Both (a) and (b)
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78.

39 JO4

Gt I faym T e ?

(a) T qerAT WA Frsmonem mafite WU %eard A" 2009-10 6 GEard dqe,
(b) 1O Sefor® ad 9 @ 12 wefte gerr el 10 A 12 <= faagor =4 34

it 9y

(1) % (a) (2) ®H (b) (3) HIVRE T (4) <
Which one of the following statements is correct ?

(a) The central scheme of Inclusive Education for Disabled at Secondary Stage (IEDSS)
has been launched from the year 2009-10.

(b)  The scheme enables the students in their academic years 9 to 12 to pursue studies of
std X to std XIL

Answer options :

(1} only (a) (2) only (b) (3} Neither (4} Both

79.

- TS TR IV WIee STE i GHTA R -
(a) wiHYade Td wH FEA e T,

(b) AIENEE G 9 d FHI 0.

(c) ITIIETT WeH 10 9 TRGYhAl argfanl,

(d) ST AT F SARFART IEHIE AT F@,

q’ﬁhﬂaﬁi‘:
(1) (a) & () (2) (), (b) &AW (c)
(3) (@) (c) =nfu (d) (4)  (a), (b), (o) &0 (d)

Which of the following are the benefits of e-governance ?

(@) Reducing the cost and improving the reach and quality of public services
{b) Reducing transaction costs and transaction times.

(c}) Empowering citizens and increasing transperancy.

(d) Re-engineering of processes for greater efficiency and productivity,
Answer options :

(1) (&) and (q) (2) (@), (b) and (¢)

(3)  (a) (c) and {d) 4) (@), (b)) (d)
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80. wrelled=! ey e G SfEE HIvE! ?
(a) UEE MW THEH I WIS el ITae Yl (fRm U ).
(by @red Fvuary 3feg Hfaa w.
(¢) fa=qul ssgrTHY 2401 FIeqorshmTen 9T H:30.
(d)y TETE GfEY, YeIHTas 0 werd WA el ey yfad

'Q'Q'hﬂ' '3'%13{ :
(1) (a), (b) &0 (c) (2)  (a) @0 (c)
(3)  (a), (¢} AT (d) (4) a0 wd

What are the objectives of the Model School Scheine ?

(a) To have at least one good quality senior secondary school in every block.
(b) To set a target to be achieved.

(¢) To try out innovative curriculum and pedagogy.

{d) To bea model in infrastructure, curriculum, evaluation and school governance.
Answer options :

(1) (@), b) and () (2) (@) and ()

(3) (@), (c) and (d) (4) All of the above

81. YEI € fasmits! Fod geerd A ?
(a) TA UH. I ST HL L § UF oTF Hew AR W quHed 39 fvneromen wel Heei tad Sied
(b) Hag 7. . . 9Y BgEr! 2011 Wl TE RifeeT HET TUMT HITEE S,

Wf'ﬁ"\?ﬂ} :
(1)  Fasi(a) (2) Fas(b)
(3) (a) @ (b) T TR (4) (a)  (b) T

Which one of the following two statements is incorrect 7

(@)  The NMEICT is a mission to provide connectivity, valuable content and low cost
computing devices to all the institutions of higher learning in this country.

(by  The National Video Server was launched at Mumbai lIT in February 2011,
Answer options :

(1} onlv (a) (2)  only (b)

(3)  Neither (a) nor (b} (4) Both (a) and (b)
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82. wreita g faumidet FvK faum Fra o ?
(a) a4 2000 ME=N AC@HER Ao FTHART 2001 == o0 YHIHGR 0 T IR & 756
2003 @1 €A W1 ¥ § 3 B Wk HAHY FrHH e AT HTel.
(b) A FREHAM YA TR &M e iR AE foe dhben v o,
g I
(1) %92 (a) (2) & (b) () A@A0) @ TRREIE)
Which of the following two statements is correct ?
(a) After the Orissa Cyclone in the year 2000 and Gujarat Earthquake in January, 2001
a comprehensive National Programme on NPEEE was launched by MHRD in 2003.
(b) The Programme was launched with the Indian Institute of Remote Sensing as the
coordinating institute.
Answer options :
(1) only (a) (2) only (b) (3) Neither (4) Both
83. HIBNl Wiitdlen A RS FHEL BN e o TIRE=H 3® wROTAS @eid S
FROTE {2
(a) Toemeatst sRimerdta fafawa (b) Tt oA st
(c) Tt Huieyed e el (d) AT FREHA
ot e
(1) (a) #00T (b) @ (@ (3) (c) ¥ (d) (4} (b)
According to the Kothari Commission, the large stagnation and wastage in class is due to
a variety of causes which does not include :
(a) The heterogeneity of the age composition of students
(b) Irregularity in attendence of teachers
(c) Overcrowded classes
(d) Unsuitable curricula
Answer options :
1) @and®) (2 (@ () ©add @ ©®
84, TETE T faumidst FIv G IR ?

(a) UAH E R A 1963 T WA UY T TH UH ST =] .

(b) WeFTE: AT AT WHF A TRt Tl

i S

(1)  HaB(a) (2) FFB(b) (3) HUIE! e (4) <R
Which one of the following two statements is incorrect ?

(a) The NCERT started the scheme of NSTSS in the year 1963.

{b)  The Soctal Sciences were earlier not included in the scheme.

Answer options :
{1) only (a) (2) only (b} {3} Neither (4) Both

Ho HIATHIS ST / SPACE FOR ROUGH WORK
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85. YEiw 3 faumide! won faum @Y am 7

(a) ®F 1961 T We e T Teden LS. |91 4M R ifam F A 9
e 96 |9 1971 79 ufE.

(b) THEACE TFERA AT (TR del 37 Ty Wedatel RS o9 THES T

@ T3 TR,
gt 3
(1) @@ (2) FFB(H)
() (a) T TE T (b) T AR (4) (a) d (b) TE

Which one of the following two statements is correct ?

(a) Directorate of Adult Education was made a part of the NCERT in 1961 with which
it remained associated till 1971,

{(b) The Directorate looks after the non-formal education of the adults though does not
monitor the progress and status of literacy.

Answer options :
(1} only (a) (2) only (b)
{3) Neither (a) nor (b} {(4)  Both (a) and (b)

86. YEUF! FRA L sfem FrEAel R faus g oA 2
(a) SRR ATyFTammeNeder Hay FINFYIE UEratan sTufea
(b) HEE HHGHR qegm I o fafed o,
(c) ©F fma & giaeht <vem 3§ e o,
(d) e fafsevnd faent =, faen fa=n, snfie @ = o gft svesam,
Tt Iy
(1) (a) 37 (b) (2) (o) = (d) (3) (a) () (4)  (b) ¥ (d)
Which of the following statements are incorrect about the RTE Anthem ?
(a) Itis to spread the message of RTE Act among the public
(b) It has been written by the renowned lyricist Gulzar.

(c} It has been sung by Sonu Nigam and Sunidhi Chauhan.
{d) The anthem picturises Priyanka Chopra, Vidya Sinha, Aamir Khan and Om Puri.
Answer gptions : ‘

() @and () (2 @andd) () @and() (4 (b)and(d)
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87,

88, TE oM fauriE I @Y A7

89,

43 TO4

AT HIVE GfeTET sl fnaoretiar stete A -

(1) 2 eir=ifies fer wge=n See Sranfse el S

(2) & wafa, oE M 9 g o,

(3) Friew avweE =ue afete 789 gavew e

(4) T TR HBIF HREE S & SFHTTAET he! S

Which one of the following is not the essential characteristic of Non-formal education ?
(1) Itis organised outside the formal system of education

(2) 1t is diversified, flexible and open - ended

(3)  Forever membership so no exit or re - entry.
{4y lt is very consciously organised and implemented

(a) e TEHEN WG HaHT foem ardE! Srasd, 99, qat 9 9 oo adid 4 84
FAEE AR, 3. T g e, g FEiee f6 i qibaers B[
M FE T,

(b) =R feerear S1a |Hw SR, Wi, ST o ESUEE 49 T S0 T,

Tardr I

(1) HAB(a) (1) FI=(b) 3) (@ (b) @ @@=

Which one of the following two statements is correct ?

(a)  Regional offices of the Ministry of Human Resources Development GOI located at
Kolkatta, Chennai, Mumbai and New Delhi were transferred to AICTE. These offices
started working as secretariats of the Regional committees.

(b) Four new regional committees have been established at Bangalore, Bhopal,
Chandigarh and Hyderabad.

Answer options :

(1) only (&) (2} only (b}

(3) Neither (a) nor (b) (4) Both (a) and (b)

A H0 fAur T aTg ?

(a) fagm et dxgm 3 & favmig gen g v faemdis o

(b) 2 foendic #IMdE g AAHHA 91w URd AR

ugiE I

(1) %9 (a) (2) AR (b) (3}  HIUIE e (4) SR
Which one of the following statements is correct ?

(a) North Eastern Regional Institute of Science and Technology is a State University
(b) Tt cannot conduct any of the courses whatsoever under the distance mode.
Answer options :

(1) only (a) (2) only (b) (3}  Neither (4} Both
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90. TEIA A faurrds HvR dr a2

() g fagm gfivesn 19 fedsm 2007 O wdear S 11 & dieHg =i 1ty Jafag
Al YT Fvvai U Siga Qe SumEl 3-Ned o Gaie mufTEar yem del,

by W fyem TR g-madaEa T @ 3 e 3 T oo Rrenet HeE e,

At 3=y .
(1) FA@(a) (2)  FEE(b)
(3} (a) T A A (b) F e (4) (@) 3 (b) T

1¥hich one of the following two statements is correct ?

(a) The XI Plan approved at the meeting of the National Development Council on
19'h December 2007 places the highest priority on e-governance as a central instrument
in achieving rapid and inclusive growth.

{b} I'he National Development Council accepted the recommendations of the
N.CERT on e-governace in this respect

Apswer options :
{1 only (al (2) only (b}
(3 Neither (a) nor (b} (4}  Both (a) and (b}

91. =TT ey v AT AR
(1) W1 15%, WE= 9P SIYATESRA 15%, T faag 709
(2) T 10%, HIH GEE AEEEHH 15%, Uow g 75%
(%) WM 15%, W IERYE AvarEsd 10%, Hew faug 75%
(4)  YTH1 10%, W TR SRR 20%, Ufew (5eE 70%
The Voecationalized course pattern is :

(1) Language(s) 15%, General Foundation Course 15%, Elective subjects 70%
(7} Language(s) 10%, General Foundation course 15%, Elective subjects 75%

(3y  Tanguage (3) 15%, General Foundation course 10%, Elective subject 75%

(1)  Language(s) 10%, General Foundation course 20%, Elective subjects 70%

THoedl HIAETS AR / SPACE FOR ROUGH WORK
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92, Tkt FanEY HIR I oM

(4)

e Tt Uty gEa faemdteTE! ST W 1985 Wiel He.

& W 3= fonaromrean Gefe! qiiad favive: SEIST=N goe SR,
fo wfedt sty wmaferd eUamE 49 w99 M T,

el TehEl L

Which one of the following statements is incorrect ?

(1)
(2)

(3)
(4)

The Indira Gandhi National Open University was established in 1985.

[t also provides higher education opportunities particularly to the disadvantaged
segments of the society.

Its first regional office is being set up at Hyderabad.

None of the above.

93. WAfHE TSR SEMHRS FAfae e @1 Asmmed 7d Areafhs e 3T s i
YT, T, wEgeIied wemed s ad geriar auEy Hivgr oAl o1, o 14+ ©
18+( 3.9 &t d 12 o) 99 aTRd. 3nfu oy Ul SeaifEd sheed
ST U e TN fus T ATR. S9Nl HIeeE AIvHIY - 3T, FHT g8, SUHIE
forfl, o1 € 3.

(1)
2)
(3)
(4)

YT 61l (1995), TG foversd sufEm (1999).
AT wEl (1994), Upia favawq stfafam (1999)
HUTed 1Sl (2004), THA fawer@ wHra=y (2006)
AT AR

Inclusive Education Schemes covers all children at secondary stage of age 14+ to 18+
(std. IX to XII) studying in Government, local body and Government aided Schools, with

one or more disabilities as defined under the and

__, namely

blindness, low vision, leprosy cured, hearing impairment, locomotor disabilities etc :

(1)
(2)
(3)
)

Disabilities Act (1995), The National Trust Act (1999)
Disabilities Act (1994), The National Trust Act (1999)
Disabilities Act (2004), The National Trust Act (2006)

None of these
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94, TE@ P fauE HiTg aTe ?
(a) WA FUlE=E IR TE T T M.

o
Wy o~

(b) ISR NA HH HITAMET IEW 85% FIEAT 2015 Wrekl WS vET= g,

Uit I

(1) w9 (a) {(2) R (b) (3)  HwE A (4) ==
Which one of the following statements is correct ?

{a) The following logo is of RUSA.

®
e W

(b)  Sakshar Bharat has been formulated with the objective of achieving 85% literacy
level by 2015.

Answer options :

(1) only () (2)  only (b) (3) Neither {4} Both

95. R & faur gante #g 2
(a) EM T RS (TF % @) WA 2005 7E) A wqid @eil. 5 SiEar : 2005-2010,
(b) T T HEA ORI F WA I T R,
Tgie 39
(1) 9% (a) (2) % (b) (3) IR E (4) TR
Which one of the following statements is incorrect ?

(a}  The National Knowledge Commission (NKC} was constituted in 2005 originally for
a period of 5 years from 2005-2010.

{b) Itis an advisory and a monitoring body.
Answer options :
(1) onlv (a) (2} only (b) (3) Neither {4} Both
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96. foxara wrdt g TaIfad TETAREE YA HeAqER Fo e #e 9 =re siReasaiat

4 g feodt angd. cfen A Sire S,

CALEA! HTTTEvIe T4

(a) oET g Afufay i) 1961, 1984

(b) EHH T HIE (i) 1890

(c) B gfdewes FwEe (i) 1986

d) fros 9 faves weef & e (iv) 1976

et I

(@) (b) (o) (d)

(1) (v) () @) ()

(2) () (v) @@ (ib)

(3) () @) (i) @)

(4) Gy (v) (i) (i)

To protect the human rights of women, as per the provisions of the Indian Constitution
special acts have been enacted. Match them with their years of implementation.

(@)
(b)
(c)
(d)

Act. Year of implementation
Law of heirship (iy 1961, 1984
Law of equal wages (i) 1890

Law of prohibition of dowry (iify 1986
Law of prohibition of exhibition (iv) 1976

of obscenity

Answer options :

@ (b) () (d)
(v) (i) () ()
i) (v) (@ (i)
G) (i) (i) (@)
(i) (v) (i) ()
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97. ‘W' GEEAE GESHEUTAT T THET HI07T 7
(a) T=ffeE smodi=T wwen (by EETESIETE! TN
(c) T wuem
T I
1) (a) (2)  (a) 3T () (3)  (a) () (4)  (a) (b) T ()

What are the basic problems being faced by the SAARC countries ?
(a)  problem of Natural disasters. (b)  Problem of Terrorism.
(c) Problem of Poverty.

Answer options :

1) () (2} (a) and (b) (3) (ayand (o) (4)  (a) (b) and (¢}

98, s Yiafws anfe g deed Hewld weie faurf faam =,
(a) TU WA T 1989 HEd Fe.
(b) 9T UTH HEAIF GG&9 T . |
(c) enferm-dTaftres W S fodid, Weshn, IR o e FOATH FHET S 1%
& WA Heen e,
iUl wierdAd faumA ateT smga ?
() (a) T (b) (2) (b ¥ () (3) (a) ¥ () (4) D (b)

Consider the following statements with reference to Asia-Pacific Economic Co-operation
(APEC).

(a) APEC was established in 1989.
(b) India is the founder member of the APEC.

(c) APEC is the primary organisation for promoting cconomic growth, cooperation,
trade and investment in the Asia-Pacific Region.

Which of the statements given above is/are correct ?
(1) (a) and (b} (2) (b)) and (¢) (3) (a) and (c) (4) Only (b)
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SrerToAT g EUT GESIH] BIUR T hui oA SO g ?
(a) LA FTH FLOTAT hell=a qaTa a6
(b) HHHET =T =1 &ofh
() darfes Eiqnl daifEs gwIeg qEmd 92
(dy fireaws W= §FF
gare I
1 @ FmE) @ meEte (@) @A () () A

With special reference to the rights of prisoners which of the following are not the piisciers’
rights as yet.

(a} Increasing the wages who are employed within prisons
(b}  Right to equal and fair treatment

(¢} Meeting spouse in the jail as a matter of marriage right.
(d) Right to freedom of expression

Answer options :

(1) (a) and (b) (2) (b} and () (3) (a) and (c) (4)  (c) and (d)

100.

gfeqor snferarg favmita e (9r) <t w91 gq7 S STt ?
(1) gfem snferam emdie wrgfesn serfafal sawe w

(2) A aNfYw, A I wiskfas fagma g o

(3) =He =

(4) T uwEl e

South Asian Association for Regional Co-operation has been established with a view to :

(1) To make collective self sufficient South Asian countries.

(2)  To increase economic, social and cultural development in the region
{3} Both the above

(4}  None of the above
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T T AR Tew e (A weftetet st s e 7
(a) SIEHTE YA 7! SITATHIS Yord ot

(b) STEHA HRY Ha [

(¢) wIoH™ AN TS I

(d) TRl faeror 20

(e) WTWEHIHT HITH{TH aidihe @63 Tl

FHBUHRT HIVA/A fauE/A a3 ?
1) (@) (b), (), (o) (2) (), (¢} (d), (¢)
(3) (@) {b), (@) (d), (¢) (4) (@), (b), () (d)

Which of the following are the objectives of the United Nations International Children’s
Education Fund ?

{a}) To strive for all-round progress of the children.

(b) To provide healthy meals to the children.

{c) To keep the children in good health.

(d) To Educate children.

(e} Tolook after the cultural aspects of the children.
Which of the statement/s given above is/are correct ?

1 @ 0 © @ @) 1) © () @
Gy (@), (), (©), (), () (4) (@), (b} () (d)

102,

‘“THTHIE T WA 68 5 HOAHR [EITUR] I &7 Fatq Teea yl ® el 3.

(a) TE¥wETE (b) HCTIEATHRY FIHU
(c) WTTHST HH<A! (d) Terare =t mem
Tgidt 3 : '

1) @ () (2 EFACW D () @I () F) (@A ()
The most important fields of Work of Economic and Social Council (ECOSQC) under
article 68 are in following fields :

(@) Terrorism (b)  Protection of Minorities

()  Child Labour Problem {d} Commission on the status of women

Answer options :

(1} (a) and (b) (2) (b) and (d) (3)  (a) and (c) (4)  (a) and (d)
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gee faum e e,

(a) 6 W 2001 TS FENE T AT g ST LT St

(b) TR ¥ WHRANE I59 HHE! 38 TR T SR Uies T g

o Gt Fv/dt faumA atET R/ ?

(1) % (a) (2) B (b) @) @er®) 4 AR TE
Consider the following staternents :

(a) Maharashtra State Human Rights Commission was estabhshed on 6 March 2001.

(b) Gujarat is the first state in India, to establish State Human Rights Commission.

Which of the statement/s given above is / are correct ?
(1) Only (a) (2) Only (b} (3} (a) and (b) (4) None of these

104.

ST 3T | IR WHASAT 2002-2003 =N SRATGITIR AHrS Falfd S Gy Fven T
B! 7

(a) SSIRY A0 GrferEd (b) 3feniEn snfor et
(c) 9T i AT (d) WRE A =47
T I

1) @amE @ Game @ ©FAME (@) (@A)
As per the report of the World Food and Agriculture Organization of (2002-2003), which
of the following nations had the highest malnurished ?

(a} Bangladesh and Pakistan (b) Tthiopea and Indonesia

(c) Nepal and Nigeria (d) India and China

Answer option :

1) @and(® () G)and(© () @and@  (4) (a)and (d)

105.

‘ark ' weed= Hewld wrdte faum fa=d

(a) HTREl TATT 1985 T AS.

(b) W o R Teh WeAH U HerEed g

(c) W WeeAd qed v "' gf iy S e H g AR,
TSR FoT/A fauH/A sET emRya ?

(1) () & (b) (2) (b 3w ()

(3) (a) 3 (c) (4) = HE T
Consider the following statements with reference to SAARC :

(a) SAARC was established in 1985.

(b}  Shashi Tharur was the fifth Secretary General of SAARC organisation.
(c) The main purpose of SAARC is, “To promote the welfare of the people of South

Asia”.
Which of the statements given above is/are correct ?
(1) (a) and (b) 2 (b and )
(3) (a)and () (4) None of these
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52 A
gt faur faamm =,
() fon W w@as & 115 faFaite Suren fGaudw o gurasea yiaa som
TS ML

(b) iR Uy Tl gfed fra ufteg 3 49 e,

(c) WifREaT Afew Y Feadesd FEATTH <3 .

Fled®! FRA faumA stEt s RA ?

(1) (a) ¥ (b) (2)  (b) ¥ (c) (3)  (a) ¥ (o) (4) % (b)

Consider the following statements :

(@) TheNon - Aligned Movement is a movement of 115 members representing the interest
and priorities of developing countries.

(b)  The First NAM Summit Conference was held in Cairo.

{c) Pakistan is the Founder Member of NAM.

Which of the statements given above is/are correct ?

(1) (a) and (b) 2 Mand(©  (3) @and(© (4 Only(b)

WOGUH! HIVE! UM W 3187 ?

107.

108

(a) 10 fedi=t 1948 AT W Tpi= AEENSET WGl gEna dfvas SERAm fawrvard

(b) WET gaTan Afvaen WERAM Hd TR GEAT SRR AT,

T I

(1) & (a) 2) W (b) (3) = AR (4) =

Which one of the following statements is correct ?

(@) On the 10" December 1948, the General Assembly of United Nations Organisation
adopted the Universal Declaration of Human Rights which is addressed to the

member states of the United Nations.
(b}  The Universal Declaration of Human Rights is binding on the member nations.

Answer options :
(1) Only (a) (2) Only (b) (3) Neither (4) Both

. T Hoedd & fda1 3% de Hofad Fow oeie st e ol

(1) wefn, Twe, aiswE, st

(2) iU, i, s, TreRe

(3) TR, irwEH, e, fest

(4) 9Rw, gfewar, TE=RE, st

Choose the correct group of one time or the other suspended nations of the Commonwealth
of Nations :

(1) Malaysia, Uganda, Pakistan, Nigeria

(2) Afganistan, Pakistan, Fiji, Bangladesh

(3) Nigeria, Pakistan, Zimbabwe, Fiji

(4) India, Pakistan, Nigeria, Kenya
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53 JO4
TG 0T S (A1 GTHITSR €W * 3797 e A5 7
(a) FAUR (by oY
(c) TREH d) ==
Tt I

(1) @& ) @ ®FT () (3) (@M () (4 () (d)

Which of the following can be classified as socially handicapped ?

(a) Deaf and Dumb (by Orphan

(c) Deserted Women (d) Lunatic

Answer options :

(1) (a) and (b} (2) (b) and (c) (3) () and (d) (4) (a) and (d)

110.

(a) ofedlied HTT (b) wrEF G

(c) dredl afiEg (d) foguzn ufieg

it I

(1) W% (a) (2) W (a) 3 (b)

(3) (@) (b) 30 (c) (4)  (a), (b) AT (d)

What contributed to the establishment of the United Nations organisation ?
(a) Atlantic charter (b} Moscow convention

(c) Yalta conference (d} Vienna conference

Answer options :

(1) Only (a) (2} Only (a) and (b)
(3) (), (b} and (c) 4) (), (b} and (d)
IR HIvRT UM AE e

111.

(a) TgH VI GIBT TS widAT SIiEtd S de3l TehRITHHR aTie 312
(b)  HYH TEAT YA @ A Falfd  HH G AR HTareidl FTT,
FUGAHRT HIO/A Taam/A SET A,

(1) F® (a) (2)  ®%F (b) (3) ==l A (4) ==

(@) In the Security Council of the United Nations China has used veto power right
maximum times.

{b} USSR has used the Veto power least times in the Security Council of the United

Nations.
Which of the above statements is/are correct ?
(1) Only (a) {2) Only (b) (3) Neither (4) Both
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112, ¥ wifed! svEmeEed et gentd U st
() TfedrEr Afieer arfafEg 2005 =1 fow=an weomg S miad rarmEsEH awe SR
(b)  TETEl TR HoodH AIfgd! STl THuh .
(¢) fedt sgwian HrAERIE 5 a8 A FAT= 65 FuTdd ST,

(dy Upyd migdl MBI TSTE FLA Nadd fhay TpEeId AT Tate IR

srfimma faammE .
Tt 3w
W @9 | @ &=
() (& F>F (4)  ATdH! pIORE T

Identify the incorrect statement about the Central Information Commission :

(a} Chapter three of Right to Information Act 2005 has the provisions for the Central
Information Commission.

(b) President of India appoints the Information Commissioner on the advice of the Prime
Minysier.

{c}  The tenure of information Commissioner is 5 years and upto the age of 65 years.

{(d)  While terminating the Information Commissioner the President takes opinion of the
Supreme Court about the misbehaviour or inefficiency.

Answer options :
(1) (a) incorrect {2) (b) incorrect
(3) (d) incorrect (4) None of the above
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(a) Ffedt gt foeg fue. gl () P AR T drEeedl AT HIEH TREH

WIS
(b) T viE e fovg e saoarm (i) AW e STl eRE THEE W
(c) ¥gd el faeg fogr TR (i) ST THIS THUATE LA

d) TR favg feel TIEg Mg (iv) e e wmen g ST o
giEt 3=
(@ (b) () (d)
(1) () (v) (@) (i)
(2) (v) @) (@) (1)
(3) @) (@) (v) ()
4) o a4 (@) ()

Match the correct pairs about the famous trials of the Supreme Court regarding Human

Rights :
(a)g Nandeeni Satpathi V/s P.L. Dani (iy  Compensation to the mother of the
dead for being beaten by the Police
(b) Prem Shankar Shukla V/s Delhi (1) Compensation against the
Management violation of Individual freedom
(¢} Rudul Shah V/s Bihar Government  (iii} Permission of appointing lawyer to the
accused.

(d) Saheli V/s Delhi Police Comumissioner (iv) Cuffing the accused (putting the
handcuffs) is a despotic act.
Answer options :

@) (b) (o) (d)

(1) (i) (v) () (@)
(2) (v) (i) (1) (1)
(3) () () Gv) ()
4 ) @) (@) (i)

114,

‘2 RS I NG Y A ROl TRUIER gSiAT S S Jeda T qoe
HIUIAT 3T ?

(a) i sme (b) ARFY T IR GO

(c) H@ HE S (d) THTU

=i ST

() @B () @AE @) G (@) (o)
As per the survey of “TATA Institute of Social Sciences” which are the most severe problems
faced by the Aged People ?

(a) Financial problems (b) Health and medical problems

(¢} How to spend the time (d) Loneliness

Answer options :

(1) (a) and (b) (2) (a) and (c) (3)  (b) and (d) 4)  (c) and (d)
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RIS U] T e wﬁﬁmmﬁa@a?

(1) ifees, wiwl, geq, fafsm

(2) <=, qa, qifwe, e

(3) =, fariee, fegum, sl

(4) wio-Usfow, siigfen, R, 7"

In which of the following cities are the authorised offices of the United Nations ?
(1)  Washignton, Mascow, London, Beijing

(2}  Tokyo, Mumbai, Madrid, Delhi

(3)  Newvork, Geneva, Vienna, Nairobi

(4) Los - Angeles, Brasiliya, Kolkata, Paris

Ty TEHEr= TEHE 16 TeHa 1966 U=l At geiamn famroen gHiacHad ToetH!
e 9T s,

() i, Wrnfes onifor Wivpfoew g&iET Aoy w98

(b) BRI J HASHTAT SHiA! MAULE T4

() STETA 9 A TG SIRUPE TS

Tt 3
(1) (a) @00 (b) TR (2) (a) (A ()
(3) (), (b) 3 (c) IR (4) Wd G

Identify the correct statement regarding the covenants adopted by the UN General
Assembly on 16t December 1966 on Human Rights. .

(a) International Covenants on Economical, Social and Cultural Rights.
(b} International Covenants on Personal Liberty and Right to Vote.

(c)  International Covenants on Political and Civil Rights.

(d) International Covenants on Religious Organization Rights.

Answer options :

(1) (a) and (b) are correct (2} (a) and (c) are correct

(3} (a), (b) and (c) are correct (4)  All are correct
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TETE HHE! g SENTET STeae 9 GEedl e unan Oiidid GIeieE v STHad ?

(a) SERETET FUTTE (b) TEAEHTT ITHHTA
(c) orwavs faid ua d (d) TmEa foedt vy 14
(e) TEaTe TRH (f) vEre gagH

(g) |HS e 7t

@kt FHIUE faum/A SHER TR/ ?

1) (@, () (d). ) 2 (®) @ @) (&

3) (@ (b), (), (d), (&) (B 4) (@) (b) (c), (d) (), (g)

Who amongst the following form the selection committee to elect the President and
Members of National Human Rights Commission ?

(a) The Chairman of Loksabha (b} Vice Chairman of Rajyasabha
{c) The opposition leader of Loksabha (d) The opposition leader of Rajyasabha
{e)  The Home Minister {f) The Prime Minister of India

(g) The Minister of Social Welfare

Which of the statement/s given above is/are correct ?

(1} (@), (c) (d), () (2)  (b), (o), (), (g)

(3) (@), (b), (c), (d), (e), (f) @ (@), (b)) (), @) (g)

118.

TRET ST TYfTwi= v 6 ' gs $=' B sfioEe o ?
(a) STiEATT=N FEw TEERER U9 9y fqewfad wo

(b) Fogm, ITH, AUR, Jaaus, Tie sen §99s qedd arefao]
() TTIF T Fikhias arIa A auaEEda Fad S0

(d) SNE TPEE S HeY yed w0

FASHF Frowy/A e SteT oA ?
1) 9 (a) (2) (a), (b) =0T ()
(3)  (b), (c) 30T (d) 4)  (a), (b) 0T (d)

Which Policy of India about ASEAN nations is identified as ‘Look East’ ?

(a) To develop political relations with ASEAN member nations.

(b}  To increase co-operation in areas of science, technology, trade, investment, tourism.
{c) To strive towards enhancing social and cultural atmosphere.

(d) To establish defence relations with ASEAN nations.

Which of the statements given above is/are correct ?

(1} (a) only 7 ) (), (b) and (c)

(3} (b), (c) and (d) 4) (a), (b) and (d)
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St HITE! T ST el dfged HOHd TISat! HImEr Ta AR ?

(a) E MY FHATT YAl 9 gEhE) AT ST WA TR

(b}  FIVTTE FrEdld VU A A Hd T T SR 9 @ IR,

(c) Wt Sfifaa Tar=a S SReTnE ¥ oe.

(d) e el o SrReme TRy B AT

et Fe/d faumA ateT o ?

(1) % (a) (2} (b) 3T (<) (3)  (b) anfvr (d) (4)  (c) 3nfor (d)

Which of the following statements comprise the First Article of the Universal Declaration
of Human Rights ?

(a)  All human beings are born free and equal in dignity and rights.

{b} Everyone is entitled to all the rights and freedom without distinction of any kind.
(c)  Everybody has the right to life and security.

(d) Everyone has the right to forbid slavery and servitude.

Which of the statements given above is/are correct ?

(1) Only (a) (2)  (b) and (c) (3)  (b) and (d) 4) (c) and (d)

120,

Hg® T wwdl feoear e To-g@an Yo Ko g@ial Jisat Jar=] 9l HAar
(v d see) A 9 A o,

(a) TeTHH & SNSuIrgl §ah

(b) Tl Y a1 9 Fleo=l 5%

(c) <Gl = e, TE F U g

(d) garg ferRomEl ge

T FA :
(1) {a) (b), (), (d) (2) () (a) (b), (d)
(3) (), (b), (), (d) (4) (d), {a) (c), (b)

Arrange the following rights of the children agreed to by the United Nations, in accordance
with the ascending age.

{a) Right to play and frolic

(b) Right to good health and care

(c)  Right to be registered immediately after birth, Name and Nationality
(d) Right to proper education.

Correct ascending age :

) ), O €, [ ) (© (@), () @

(3) () (b}, (@), () (4)  (d), (a), (o) (b)
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121. Grid T FOR 99 ST M@ ?

(a) THT WIS Gon e (Feee sfeee i Hive fetr) el foeeia ot

(b) YA HTEH ey U AT faeeiia .

gt I :

(1) 98 (a) () F9% (b) (3) I @) &

Which one of the following statements is incorrect ?

(a) National Institute of Social Defence (NISD) is located at New Delhi.

(b) National Crime Records Bureau is located at New Delhi.

Answer Options :

(1)  Only (a) (2) Only (b) (3) Neither (4) Both
122. TE@UHt SR fauH G o ?

(a) FEW B Va1 T Tt o A Aqwid %, 21,000/ - vofa A1 0@ TSR FEade
FIIYRT TS b <. 400/- 30! Fia o=t @y fire.

(b) 1 ATHI 60 anfian Afys a7 SRS FUYR 1 aTgA.

i I

(1) &% (a) (2) % (b) (3) <R @) =&
Which one of the following statements is correct ?

(a) Pension amount for the beneficiaries with annual family income upto Rs. 21,000/-
in the Shravan Bal Seva Rajya Nivrutti Vetan Yojana is Rs. 400/- only.

(b) Destitutes above 60 yrs. of age are eligible.
Answer Options :

(1) Only {a) (2) Only (b) (3) Neither (4) Both
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123. TSGR FO faum 7@ R ?

(a) T SIMTE TATAT 12 © 22 =7 T AT fgat TS HT=mai ale.

(b) o FTooma wiSeR! IFie T,

(c) Y AfgeT Q= T A e,

(d) TIFT 1975 AL 9gAYEY YEERR TS SR ST

(e) o Srefemer ufisd= s7eas1 e,

(f) &0 gE & e gRw sTeaa g,

At 39

1) % (@) @) (@i @) Ot @

Which of the following statements are incorrect ?

(a) Durgabai Deshmukh was the Principal of Balika Hindi Pathshala from her age of

12 to 22.

{b} She was a leading criminal lawyer.

(c) Andhra Mahila Sabha was founded by her.

{d) She was awarded Padma Bhushan in 1975.

(e) She was Chairman of the council for Adult Education.

(f)  She was Chairman of the National Council for Womens Education.

Answer Options :

(1) Only (a) (2)  (d)and {e) (3} (b)and (c) (4)  Only (f)
124, @icile fagrfst Som Swie &1 ?

(a) o3 WA ‘wEfEa’ @ e o7l it e AR

(b) T AMTHI TAHIaRS W VR STEHAN ATARYHE FG I 6 e SvaW 7 S
TrRAf) Tt AR,

Tt IO

(1) 5 (@) () F3 () (@) TJEETE (4 TR

Which of the following statements is incorrect ?

(@) ’Phailin” a term in Thai language means disaster.

{b) The previous cyclone to hit the Indian subcontinent in Bangladesh was named
Mahasen by Malaysia.

Answer Options :
(1) Only (a) (2) Only (b) (3) Neither (4) Both
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125. @i faumitis! Sio Sl smed ?

(a) 1990 =1 TEH FfEcH STERT FIERITHTS g T IR Fear=n On qeeiis] fHam
TH SR YA A S SIS e ST

(b) UF Hfa At W gE FIHE AR SEEI g,

it 3

(1) e (a) (2) Fa (b) (3) TRETER (4) o

Which of the following statements are correct ?

(a) According to the National Commission for Women Act 1990, out of the seven
members nominated by the central government at least two seats are reserved for
scheduled castes and scheduled tribes.

(b)  One has to be from SC and the other from ST.

Answer Options :

{1) Only (a) (2) Only (b) (3) Neither (4) Both

126. Welte fasmidet FoR @Y 78 ?

(a) 2013 WHIEA S A1 FHARAE FAlTdF RO FHeiIR= a1 Qe Fell.

(b) fecft=s 2faw sreemifesn wermHd TR,

AT I

(1) *ID (a) (2) ®EB (b) (3) FEE R 4) =r

Which one of the following statements is correct ?

{a) Philippines was the most affected country by Typhoon Haiyan in 2013.

(b)  Philippines is located in Southern Atlantic Ocean.

Answer Options :

(1) Only (a) (2) Only (b) (3} Neither {4) Both

127. @ T wiv 7o W, g, T 1995 HEHE TGS Fod e ?

(@) o e (b) =t Hg

(c) afexawm (d) AHEE W

Tt I

(1) o (a) (2)  (a) S0PT (b)

(3) (a) (b) (0 (d) (4 =09 faitet e

Which of the following disabilities are not included in the PWD Act 1995 ?

(a) Low vision (b) Mental retardation

(¢} Hearing impairment (d) Mental illness

Answer Options :

(1) Only (a) () (2) and (b)

(3) (a), (b) and (d) (4) None of the above three
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128. @reiteris] FIow faum @ o5 ?
(a) ATt aftd WueAd Ty faes SR wIvaE e,
(b) T smfas g 11 Hufeet,
ugtet I
(1)  F% (a) (2) HED (b) (3) e AN (4) 3=
Which one of the following statements is correct ?
(a) The International Labour Organisation was established as a part of the Treaty of
Lisbon.
(b} It ended the World War IL.
Answer Options :
(1) Only (a) {2) Only (b} (3)  Neither (4) Both
129. WS R faum g o1 2
(a) FeAHaHD T TFfas AgavH oyl 96 2002 98 wWd Er.
(b)  Arhici SIS SR HA 1999 = FIER SIHeRIared] STaayia Fur=a aniua S
et 3
(1) % (a) (2) &F (b) (3) <=t (4) 7RI
Which one of the following statements is correct ?
(a}) Second World Assembly on Ageing was held in Lisbon in 2002.
(b)  The logo design was an adaptation of the logo of the International vear of Older
Persons 1999.
Answer Options :
(1) Only (a) (2)  Only (b) (3) Neither {(4) Both
130. WG] FOR [ TR @ 2
(ay Tt FT (Frrey anfin fje) gt = s o o1 Sar 30 fahan sifirs F

(b) AR FEIR HECT AT HEHA] A el S7d 19 314 AYA [ehal T Weqr= o7

oIt 39

(1) %F (a) (2) WE (b) (3) el (4) =

Which one of the following statements is not correct ?

{a) The Contract Labour (Regulation and Abolition} Act is applicable to those units
employing thirty or more workmen.

(b) The Contract Labour Act is not applicable to the units where the work is of
intermittent or casual nature.

Answer Options :
(1)  Only (a) (2)  Only (b) (3) Neither (4) Both
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131, ' Jregearar B iy wureen A T S9ad o onf @ g% FIvarEl IgasT Fel ARl W
AT 9 B SN .. B e, € faum wnierie Fion el ?
(1) Tl JEHRS THAeH (2) B IE TR
(3)  ETeAT WEt (4) Ufgd WeA Higd HrerEd
Who said, “Untouchability is a gangrenous limb of Hindu Society and if measures are not
taken to remove it, the society would become crippled... it will ultimately perish”.

(1) Dr. Babasaheb Ambedkar (2)  Chh. Shahu Maharaj
(3) Mahatma Gandhi (4) Pandit Madan Mohan Malviya

132. @S SV UM Pl e ?
(1) §I® T 90 D =1 g@Eadr=l g 2008 78 WiwRo! .
(2) Hq® UgieN SfteRrd gy feel et sifae wen A1 ariay Aedn AR,
(3) ¥ 21 3 TSNS YUT TG HITT § FHUL AT Al
(4) 36T HHIAET THHE A Al - R fomg | A e g
Which one of the following statements is incorrect ?

(1) The convention on Rights of Persons with disabilities was adopted in 2008 by the
UN.

(2) It had the highest number of signatories on the opening day in the history of a UNs
convention.

{3) Ttis said to be the first comprehensive human rights treaty of the 21% century.

(4) It changes the perception about the persons with disabilities as “objects of charity”
to “subjects with rights”.

133, AWET AfHe e U, 973,51 /TSH S0 SR SFrHat mieced AaRealsd T8 ares
(a) TH. o9 &/ ugd =t THR Ja@u.
by e T Sisar qE 9 F19,
(c) T IR @HA A I ATER 9,

Tt 3
(1) I () SRS 3T, 2) ola gd faum s s,
(3)  (a) T (c) SRS 3T, O (4) W (o) SIS AR

The ILO code of practice on HIV/AIDS and the world of work provides guidelines for the
following areas of action :

{a) Prevention of HIV/AIDS

{b) Elimination of stigma

(c} Care and support for infected workers.

Answer Options :

(1) Only (a) is true (2}  All the above are true

(3) (a) and (c) are true (4) Only (c) is true
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134, R fagreEr faar w1
(a) ST SAWHT FTAS 1995, 1996 AL fefead FTwam hwl,
(b) T g, WA 01 Lt MEATen FEEerIE a6t S 3T,
(c) o FEETHE FErd UHSEl TH Y MGH M0 WaE TAWEE Thl A 71
FOYI A .
(d) A AIHA BNEH e AfER .
it 39T
(1) oto gd faum si= . (2) W (a), (b) A0 (¢) IS 3714,
(3) E® (d) T AR, (4) HF (c) TUE AR
Consider the following statements :
(a) The Persons with Disabilities Act, 1995 was notified in 1996.
(bj It enlists responsibilities which are placed on central, state and local governments.
(¢}  The act provides for a Chief Commissioner at the central level and a Commissioner
in each state.
(d) The Chief Commissioner has the power of a criminal court.
Answer Options : _
(1)  All the above statements are correct (2} Only (a), (b) and {c) are correct
(3} Only (d) is correct (4) Only (c) is correct
135. QATU! BRI T4 o 38 -

(1) TEHE 9FIE 7 3T, TS A 9 S0 BAaas 30t AFTd S $ed JRid
HHIEY FHOYeE] T, 359 3. S Hooh <4l

(2) HHIRTR g o BeHTshol HARriara Jrme a1 faum, s ArmE e g taorare
uwor g, Trarea w0 3 Hrdmure SnaasaviiEt s =,

(3) AT ST SA oA THHIFHTE SEeeR! TTAE = o e WAerE o,

(4) STouqEAH] HEHTHRn] (FearrEl) AeEr s s 9 GeTHE oAl dTel
3T,

Which one of the following statements is incorrect ?

(1) The National Backward Classes Commission tenders advice to the Ministry of Social
Justice and Empowerment in respect of inclusion of castes, sub-castes etc. in the
central list of OBCs.

(2) The Backward Classes Division in the Ministry of Social Justice and Empowerment
looks after policy, planning and implementation of programmes for empowerment
of OBCs.

(3) Ministry of Social Justice and Empowerment is responsible for empowerment of
persons with disabilities.

{4)  Ministry of Social Justice and Empowerment looks after welfare of minorities.

HoAT HHME AU / SPACE FOR ROUGH WORK

www.upscstudymaterials.com www.upscstudymaterials.com



www.upscstudymaterials.com www.upscstudymaterials.com

A 65 JO4
136, wrele I fAuMIteRt F107d S{e 1% ?
(a) AR whicsdl WU TERTHIV < T0AT 9l Tfgeial AT Bl Hicsar=a @i
.
(b) HIHIT BBV GOIE TEEERT € 1972 7Y Aol 3 @1 f§gem Sl #e foiles
Ay foef e,
it I
(1) 93 (a) (2) 9 (b) (3) wEE AE (4) oI
Which one of the following two statements is correct ?
(a) The nationalisation of coal mines was done in two phases the first was that of
non-coking coal mines.
(b) The coking coal mines were nationalised in 1972 and merged into Hindustan
Coking Coal Limited.
Answer Options :
(1) Only (a) (2) Only (b} (3) Neither (4) Both
137. W@TeUH! B faum T 378 ?

(@) TF HINIR G5 B ‘Hal' (TW. 3. T, U.) U1 HeE! igoll 1982 Tieh T o,
(b) & = femi=t Gee g ISTwRa IR,

qaiEt e

(1) % (a) (2) % (b) (3) TR (4) I

Which one of the following statements is correct ?

(a) SEWA was registered as a trade union in 1982.

(b) It is an organisation of poor women for full employment
Answer Options :

(1)  Only (a) (2)  Only (b) (3) Neither (4) Both
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138, Hm-Tuar snftn iy fie Tefe onftr s sifafem (2007) T9R
(@) ‘'R EURR TerT, e, STeverRi g SNy A,
(b) ‘e’ TEUISl g Taen ffen T svn aref g AL
() ''HYANIGE’ IS WIS auial fRan wnden sifud aaran SiviE awdg i
(d) ‘‘Treig’ o1 Tehoqd deeh Y STERIET GHISY B,
qgrt I
(1) e (a) sUEL T2, (2) W (b) T .
(3)  RF (¢) IO () TAR TR, (4) I (a) A (d) TG 7L
According to Maintenance and Welfare of the Parents and Senior Citizens Act 2007 :
{a)  “Children” includes son, daughter, minor grandson and grand daughter.
(b) “Parent” doesn’t mean adoptive father or mother.
(c)  “Senior citizen” means any citizen of India who is sixty years and above in age.
(d) “Maintenance” includes medical treatment.
Answer Options :
(1}  Only (a) is true (2)  Only (b) is true
(3}  Only (c} and (d) are true (4) Only (a) and (d) are true

139. GEte faumiten Sived @i @ ?
(a) VRATdE W2 Fuieiis foamme qeaiden deear= Tar gy 4 o7 wRol
() e s gae gy guidl gid sTevm gewel faers wm.
(i) =T forn gAfdaE i .
(iiiy o= sryufA gemman aifEs .
(b) |7 1991 "y vy Meren faray TEuen Toe &,
it It
(1) &4 {a) (2) HFS (b) (3) TRE AR (4) =8
Which of the following statements are incorrect ?
{a) Incidence of widowhood is much higher among sixty plus females in India than in
males as :
(i)  Women get married to men older by several years.
(i) Most of the women do not remarry.
(iii) Women live longer.
(b) In 1991 there were two times as many widowed females as widowed males.

Answer Options :
(1) Only (a) (2) Only (b) (3) Neither (4) Both
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140. EOSTH F fagH g A8 ?
(a) ST M 1999 i@t AL Ml widd (R ez,
(b) o1 TSR oA Hewed1 et 120 =41 St &t set 2.
Tt I
(1) %% (a) (2) FF (b) (3) W (4) =R
Which one of the following statements is incorrect ?
(a) Baba Amte received International Gandhi Peace Prize in 1999.
(b) The prize was launched on the occasion of 120t anniversary of Mahatma Gandhi.
Answer Options :
(1) Only (a) (2)  Only (b) (3) Neither (4)  Both
141. Y@ @t foam @t amed ?
(a) T ARE fam AN Srd SOTaEEe TR @ e S a8 gl 9w
¥, 100/ - ATYHTE ARG S ®. 1000/ - 3T TaTH Gl feoll Sl
(b) TR ITARE T TH IS R Hgramenddl & 30,000/ - AEET a1,
(c) YTEA T W : % 80% T IF 20%
qatdt 9
(1) @) (2 G)FME) @) @AM (@) (@) AT (o)
Which of the following statements are correct ?
(a) Rashtriya Swasthya Bima Yojana provides cover for hospitalisation expenses.
Transportation charges are also covered upto a maximum of Rs, 1000 with
Rs. 100/- per visit.
(b) Hospitalization expenses are covered upto Rs. 30,000/~ for a family of five.
(c) Govt. pays the premium : central 80% and state 20%.
Answer Options :
(1) (a)and (b) (2) (b} and (c) (3) (a)and (c) (4) (a), (b) and (c)
142, Geie UMt Hive @Y e ?

(a) 't W2 20T ey faeed Rk’ (St SreteR fedt) gE® 3 2014 =1 9f@g Fen,
T 3T - faeRer e

(b) I FFEE A 2013 AL UG el @ WHH B - HA1 o dleh Tgerd.

T I

(1) F9F (a) (2) F9S (b) (3) TRl @) =

Which one of the following statements is incorrect ?

(a) ‘The State of world’s children’ report has been published by the UNICEF in 2014
with a title - Children with Disabilities.

(b)  That published in 2013 had the title - In Numbers every child counts.

Answer Options :
(1) Only (a) (2)  Only (b) (3) Neither (4) Both
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143, JHFH UMREE ArsTata (Ureio o) Wi TehT Hivme TEe =8 el 91 ?
(a) Il FEawel AfeeT HIEATSH1 TR
(by Tl FEamia T 0 FTEHT 3T AT AT
(c) R el Fgerdie S8 [ WERIT=A AEaT
(d) el FEade R FY SR a6

g 39T
(1) (a) S (b) TET 3T (2) () TR TR
(3) (b) FAR AE (4) T (a) TSR MR

In the Pradhan Mantri Gramodaya Yojana (Gramin Awaas) the allotment of the house is
made in the name of o

(a) Female member of the beneficiary household.

(b) Both husband and wife from the beneficiary family.

(c)  Eldest male member of the beneficiary household only.

(d) Any male member of the beneficiary family.

Answer Options :

(1) (a) and (b) are right answers (2} (c) is the right answer
(3) (b) is the right answer (4) Only (a) is the right answer

144, e GAETEG F15 Y A& 7
(a) T A ST SR el HRd 3 1oy FAMGE et 3 TerT: 1969
e Higs e,
(b) e YR HATYH TN § ST AR T T TS o,
(c) 3 AWM 1980 WIS YR FI0ATT e,
(d) 1991 4% ® g UNS 1O d MSe-Hgsil g3 B[ HAewa .
() 1991 WA GuRS e {3 vy fadiy efar! Taiea F1eM J7a Hied.
() TET 20% HTEA Hard T FeTiahial 9T e 3.
Tl ST
1) G (@) %) B) @@g @) w6 (@)
What is not true of the ‘Gadgil Formula’ ?
(a) The Gadgil Formula for allocation of central assistance to state plans was originally
evolved in the year 1969.
b) The Gadgil Formula was used as such for the IV and V plans,
¢} This formula was modified in 1980
(d) The formula revised in 1991 is called Gadgil Mukherjee Formula.
(¢) The formula as revised in 1991 first sets apart funds for special category states.
()  Then st sets apart 20% funds for centrally aided schemes.
Answer Options :

(1) () and (c) (2)  (b) alone (3) (e) and (f) (4)  (f) alone
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145, GEGTE! FIUR faur SRET A
(1) 1983 Ted Figfach THuTA FgrEl Ao FE FHISE He@MIHd HEied Jol.
(2) 7525 TR, SEUE G FE FefarEet o € UF oam e 5o 9 .
(3) T3 dTE WNT THEE 3 Ferd Jedied e d A IS YURE.
(4) 3T e NP YA, TETd 9 (€ @ U ] Ao S,
Which one of the following statements is incorrect ?
(1) The scheme of family counselling centres was implemented by CSWB in 1983.
(2) Earlier a grant of Rs. 1 lakh was given to voluntary organizations for running the
centres on 75 : 25 basis.
(3) The scheme was evaluated by Tata Institute of Social Sciences and the Govt. revised
the scheme.
(4)  The centres are now being run in Police Headquarters, Jails and for Red Light Areas
too.
146. S5 TEF GIYW AT AT & THET.
(1) w&is =EeEr =
(2) = AN R
(3) e TIERAE UEF G QAT TEUR SFHUIR 5t
(4) TN
The Chairman of the Central Consumer Protection Council is :
(1}  Judge, Supreme Court
(2} Judge, High Court
(3) Minister incharge of the Consumer Affairs in the Central Govt.
(4) Prime Minister
147. @rire {gyrier fo=r %1

(a) TTETETEN HFGT 1940 HHTE TGS g WA AT B

(b) N =T ST G SR FROTHIT F A AGh A1 FE 4d G

it I ;

(1) < e gl R,

(2) A (a) TR ATg SO T (b) TH TR,

() DR AR S TR

(4) a9 (a) Jeh!d SR 0 A (b) TUL L,

Consider the following statements :

(@) The provisions of the Arbitration Act, 1940 are not applicable to Consumer Forums.
(b) A person who obtains goods for any commercial purpose is not a consumer.
Answer Options :

(1) Both the statements are false.

(2) Statement (a)is true and statement (b) is false.

(3) Both the statements are true.

{4) Statement (a) is false and statement (b) is true.
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148,

70 A

Gcileldeh! VAT TG4 WHIOTd 3™ 3RH Fel AR 1, AFTIH Tedh FEgu=t TamR
T AT MEATRR TNfad S HEeyit HraemHa T8l

(1) i veiq Sied fa. srete sreeanteran

(2) HHieH T4 o favavrd! & ®1. dEn snf s
(3) s FUR fam fa. Ao e e fa.

) i Tt 9. e gfe

In which of the following cases, it was challenged that the parliament has no legislative
competence to establish a parallel hierarchy of consumer courts ?

(4

(1) Spring Meadows Hospital Vs Harjal Ahluwalia.

(2)  State of Karnataka Vs Vishwabharati House Building Coop. Society and others
(3) Ashok Kumar Singh Vs M/S. Gujarat Cycles Ltd.

{(4) Shoba Global Vs Air India.

149.

foreer wTes HoTem Wewia @rcte It S faum T amed ?
(a) foegr o HEM YA TN ST

(b) =1 A=W fomigE! tEa 9rm AR

() T H wiqean THE U A Nhd.

(d) o HATH TG HE WER 6.

it 39 :
(1) wd faym 99 Ra. (2) (a) 3T (c) faemt w aTea.
(3) (b) WA . (4) =0 gd faum s oA

Which of the following statements are “Trie” in case of a District Forum ?
(a) There are five members in the district forum.

(b} No seat is reserved for women.

() Monetary jurisdiction of the district forum is upto one crore.

(d) District forum is established by the central government.

Answer Options :

(1)  All the above are true (2} (a) and (c) are true

(3) (b)is true (4) All the above are false/untrue
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150, e TV SEEME sTHoe e SreT eI vl Hal A TR ?

(a) FH7 feden g (b) TRHR sforden fHere dawtg da
(¢ g (@) @ e

i I

(1) (b} = (d) o (2)  (d)

(3) (b)) ¥ (d) W (4) " W

Within the definition of “Service” under Consumer Protection Act, which of the following
services are not included ?

(a) Banking Services. (by Medical treatment received in Govt. Hospital.
(c}  Supply of electricity. (d) Private tuition.
Answer Options :
(1) (b) and (d) only (2) (d) only
(3) (b), (c) and (d) only (4) All the above
-o0o-
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TaAl — (Y% 1 787 q3....)

®) Tqasned fafea Fown fafte Svig = %W (16 946) 0. yygfassfaiE Safehat @
T FIGER el FH Hedrd o A HUg=dl IBIH F o8, 3T AFD TS 9 AR SHGIRIN
A W Feen T o tgeri sy SeaEmee sifufram-g2 " awite TEdTEr SR
T FE@ 9 <) A FEG UF Ui TS Sy iEar T8 U R TR et s
5 TRES.

(9) TR TEFEE AT fafes H0 dw YIeArT SASERel € TETfiE TE et L
U3 W TEET AR, WTH Qe HETaTe AT SHeEE SUeAT STRURehdl M- 1
AR s 1 fAw e &0 Evaeh g

YT W
Te 3. 201 FAE = TR FIOYAET R0 o TAS e ?
() T 3EF BEEd] (2 FREEs HFEETR
@) TS TR T @ T e
&N Yo AT IR (3) SN THuEs 197 o oM. e @ W W '(3)) dne, anaa
wEeT WA %, 201 WAfe sa-wais (D) § adw quien srifes see gt
HAEE TR

w2t D @ @ @

YN ISAH TR TAYRaFde T&H TE gael IOGRAE 8 g TR [iaeed
IAWHTHFANG @ & FEEAGTEE Hafya g i swifed w1 SEaE. st
Ther HTodl YIS Sl argtd, Yo o7 wige i 91 .
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